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PIM – System matrixCorrespondance avec 
fonctionnement nominal

Mécanisme de 
reconfiguration

EA - Eigenstructure

MPC, QFT, GIMC

GS/LPV, MM, FL/DI
Système non linéaire

LMI, VSC/SMC, IC

MM

Commutation

MPC

LMI

H et synthesis

LQR

Optimisation

MPC

VSC/SMC

FL/DI

EA

MF/AC

PIM

LQR

Lois de commande calculées 
en-ligne

GIMC

LMI

GS/LPV

VSC/SMC

MF – State/Output
Suivi

MPC – Set-point/Output

Compensation additive
Compensation

Compensation adaptative

LQR, PIM, MF, EA, MM
Système linéaire

Type de systèmes à
commander

QFT

GS/LPV

MM

Lois de commande calculées 
hors-ligne

Approches de conception

Commande à modèle interne généralisé (GIMC)

Commande à mode glissant (SMC)

Commande à structure variable (VSC)

Matrice à contraintes inégalités (LMI)

Quantitative Feedback Theory (QFT)

Commande par modèle prédictif (MPC)

H et les autres techniques de commande robuste

Inversion dynamique (DI)

Linéarisation par retour d’état (FL)

Commande par placement de pôles (EA)

Contrôle et diagnostic intégré

Modèles multiples (MM)

Contrôle adaptatif (AC)

Suivi de modèle (MF)

Contrôleur à paramètres linéaires variable (LPV)

Contrôleur à gain variable (GS)

Contrôleur intelligent (IC)

Méthode de la pseudo-inverse (PIM)

Régulateur à commande optimale (LQR)

Outils de conception 
mathématiques
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ẋ(t) = f(x(t)) +

m∑
i=1

gi(x(t))u(t)

y(t) = h(x(t))

z(t) = e(x(t))

#F�H(+
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ẋ(t) = f(x(t)) + gi(x(t))u(t)
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Δ0 = Span{gi} #F�H)+
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Δ1 = Δ0 + [f,Δ0]} #F�HK+

���� [f, gi](x) = ∂gi
∂x f(x) − ∂f
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Δ2 = Δ1 + [f,Δ1] + [gi,Δ1] #F�H*+

:�����
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ΔN+1 = ΔN + [f,ΔN ] + [gi,ΔN ] #F�HE+
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	�� �� �������

*�1�	�	�� �, 2� ���	��� μ 	�� %�� μ = (μ1, ..., μm) �- 0 ≤ μi ≤ n �	
p∑

i=1
μi = n ��	 �� ���	���
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ACC(Ia, μ) =
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]
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�- ACC(i, α) = [] �
 α = 0
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α ≥ 1
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�������������� ����8B��� ��������� ���� ������� �� �� ��������
� ��� ����8��������� ���
����8

������

"��� I ���������� �� 
������� �� �-��:�� ����������������� �� J �� ����8�������� ��
��� ����

I�

���������� ��� ����8��������� �� I ���� B��� ���������� ��� �� �������� ���� ������ 9

O ���������� 
������ ��� 
������� ���������� ������ ��������

O �� ����� ���������� ��� ��������� �� ����� �� 
��������

O �� ��	��� 
������� ������ ��� ���������� �� ������� ���� ��� ����8��������� 
������������ ���

�� �B�� 
��������

O ��� ���������� tij ��� ���  ��
���� ��������� �� ������������ ����� �� ����� �� ��	��� k �� ��

����� �� ��	��� k + 1� ��� ��5��� �� 
�������� �� ������� ����� ���� ���������� �� �������

&��� ���	��� ��������� ���� �� �� 
������� �� I ��� ���� / p� �� ������ ��� ����8�������� ��
���

���� I ��� ���� / 2p� �
�
�� #��� I+ 
��������� / ��� 
��5�������� �� �-��:�� ��������� �� ��

����� ���� �� �� ��������� 
��������

5����
� � )�
	 I = {a, b, c}# ���������� �� ���	���� �
����
����� !��������� ��� �
	��	
���
����
���� ��	 ����� ��� *

S = {s(a), s(b), s(c)}# 	�%� s(k) = > �
 �� ���	��� ������������	 ��	 ����
����	#� �
 �� ���	���

������������	 ��	 ��
� ∀k ∈ {a, b, c} &��� ��	 �������# ��� �
	��	
��� ����
���� {1, 1, 1}# {1, 1, 0}#
{1, 0, 1}# {0, 1, 1}# {1, 0, 0}# {0, 1, 0}# {0, 0, 1}# {0, 0, 0} ���	 ������	
�����	 ��������	��� ��� ���
������ �# �# �# 1# 7# ?# 8 �	 6� !� $���� ��� 
����	�� �� 	�� ��	���	��

tij ��������	� �� 	����
	
�� ��	�� �� ����� i �	 �� ����� j ��
	� ' �� ���	� ���� ���	����

1

2 3 4

5 6 7

8

t1,2
t1,3

t1,4

t2,6 t3,5 t3,7 t4,6

t4,7t2,5

t5,8
t6,8 t7,8

���� F�( O �������� �������� ������ ��� ���������� �� ����� �� 
�������

KH



����
	�� �� "������ ���� ���	��� ��� �
���
�� �� ��� �� �� �
�� �� ����� ���� ���	��� 	������	 ��� ���	��

!�� ������ ��
���	�� ������	 <	�� ��$�
�� *

; 2�� ����	
������� �
���
�� �/�0 ��	 ���������� ��� �� ����.�������� �� ���	���� J # �
 �	 �����.

���	 �
 �������� ������	 ΓJ ��� �� ��	�
�� ����������
�
	� ������������	� ���	
��	 Im(E) *

Im(E) ⊆ ΓJ

; 2�� ����	
������� �
���
�� �/�0 ���������� ��� �� ����.�������� �� ���	���� J # ��	 ����������

��� ��
����	� %��� ����.�������� �� ���	���� ���	����	 J �

5��� �
�	
����� ��� ����.��������� �� I ���� ���%���� �� ����	
������� e(x) ��	 ����������# 
��� ���

3: �	 39# ���� ��� ��������	��� ��� ��� ������ ��
�� )
 e(x) ��	 ���������� ���� ��� ������ �#

�# �# 1# 7 ����� ����	���	� �� �� $���� ��� ���
��	 *

1

2 3 4

5 6 7

8

t1,2
t1,3

t1,4

t2,6 t3,5 t3,7 t4,6

t4,7t2,5

t5,8
t6,8 t7,8

���� F�F O �������� �������� ���� ��� 2� �� 2% ��� ������� / 2

!�� ������ 1 �	 7 ���	 	��� ��� ����������� ���	 �� ����� ���	 ��� �
	��	
��� 	���
����� ������.

������	 ' ��� ����.��������� 39 ��� ������	 ' 3�

���
�����	�� 4 ;� ����� �� 	�� ��������� �� ��� �������� ���� B��� ���
� �� �	�� ���� ���
 >;�

���� ���������� �� ���������� �� 
������� ������� ��� 
������ ���

������ �� �=

� ������������ ��

��� #
 5���� F�H+� 2� ����� ���������� ��?��� ��� �� ��������� �������� ��� ��� ���������� �
�������

��� 
������� #I _ 
������ �� �������� ( _ 
������ ����+� �� ����� �� ������ ��� ����
����� �������

��������� �� ���������� �� 
������� ������� ��� �� 2%� �� 2� �� �� 2� #I _ 2�� ( _ 2% �� 2�+�

"� �� ����� ������� ��� �� ����� �� ���� 
�������� / ������� �� 	�
���� e� ����� ��� ���
����� ��

���������� ���� B��� ���	��� ���� �������� �� ������ ���� ��� ��������� �������

FDI Automate des ER ou EM

0 : Capteur défaillant
1 : Capteur sain

0 : EI
1 : ER ou EM

���� F�H O ������������ ���� �������� ��� 2% �� 2�

K)



���� 5����
�	� �� ���������� �	 �� �
�
���
	� ��� ��������� ����	
������� �	 �� ���	����

��� �������� 
�������� ���
 �� ���:�� �� ���� ���� ����-��� �� �������
� ���  ����� ����

�-��:�� ����������������� #���
����+ �� 	�� �� ������������ #�� �� 
�������+ �����  ��
���������

e(x) ��� ���� ������ ����������

����+ ,���
����� �
 �� ��������
 �
$ %�
�
�

�� 3����� � ���	����� ��� ���	�������� �� �� �������
� ���  ����� �� ���� ����������� ���� 
����

��
���� �������� ��5������� ������ �� �� �
:�� L3������ FII(M�

"��� F �� ����8����
� 
�������� ��� ���������� ������ �� ���������� ��� 2%� "�������� ��� ����

��� 
������� ������ ��  ��
���������� ������ �� ������ 9 �� �-��:�� ���� �� ������ ������� I ��

�������� 	��� �� ��	��� �� ������ / 

���� ����� �� 
������� 7�����/ ����	�� �� �� ����� ��������

�� ������ �� ����� �� ���� 
������ �������������� 
������ �� ����� �� �������	�������� 
���� /

���� ��������������� ��������� ��  ��
��������� e� �� �������
� ���  ����� �� 
������� ���� ���


���	����� ��� �� �������� �� 
�� 

������ ���� �B��  ��
���� �� �� ����������� �� ����� ��
��

&��� ��������� ����� ���������� ���� �-��� �� ������������ 9

O �� ����������� �������� 
������ / ��� ������� ����
�������� #������ �� ��������
�+� ��� �	������

�� ������ �� 
������� �����  ��� ������ ���� ��� �� �-��:�� ��	����� �������	�����

O �� ����������� ������������� 
������ / ��� ������ �� 5������� ��� �	���� �� ����� ��-�� �	���

�� ����� �� �� ��������� �������	��������

������-�� �� �� 
���
��� ���� �-��:�� / ������� ���  ����� ��	���� ���
 / ��� �	�������� ����
�������

�� �������������

5��
���	�� ���������

�

;��� 
���� ������� ���� ������������ ��� ��5������� �� ������ �� ��������
� �� ��� ����
���� / ��


����� (J, e)� �R J ��� �� ����8�������� �� 
������� ������� ���� ������� e� ���� �� 
�� ��� �-�8

�:��� �-��������� 2� 
���������� ���������� �������� ���� �� ��������
� ���
������ 
�� ������

����:���� ��� ��������������� ����
����� 
���� �� �� 	���� ��� �� ������

*�1�	�	���

*�1�	�	�� �� ����� �� ������	�
� �	�
�� * !� ����� �� ���������� ��
��� df (J, e) �����
�

�� ������ (J, e) ��	 �� ������ ���
��� �� ���	���� �� J %���� ���	 ������ 	��	 �� ���	
����	 '

��	
��� �� ����	
������� �
���
�� e� �� ����� ��	 ����� ��� * df (J, e) = |J | −min
i

|EMi|# �- EMi

��������	� �� ����.�������� �� ���	���� �
�
��� %������%�� 
����� ���� J �

KK
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�� �� ��� �� �� �
�� �� ����� ���� ���	��� 	������	 ��� ���	��

�� ����� �� ��������
�  ����� ��� ��� ������ `a���������`� �� �� �������
� ���  ������ 
���� ��

������ ��������� ���	��� 9

I = {a, b, c}, EM1 = {a}, EM2 = {b, c}

�� ����� �� ��������
�  ����� ��� F� 2� ����� �� ���� ������ b �� c ���� �� 
��������� / �������

e ��=
� / a� ���� �� 	��� ����� ��6� �� ������ �� 
������ a ���� ������� / {b, c} ��� ��� ��

2� 
���� / ���� ����� �� ���:�� ���� ��
��� ������ $�� ������ ���� �������� #�� 
� ���� ������� ���

����������� ���
 �������  ������ ��� �������
� ��������+ ��� ������ ��� �� ����� �� ��������
�  ����

*�1�	�	�� �� ����� �� ������	�
� ���� * !� ����� �� ���������� ���	 dF (J, e) �����
� ��

������ (J, e) ��	 �� ������ ���
��� �� ���	���� �� J %���� ���	 ������ 	��	 �� ���	
����	 '

��	
��� �� ����	
������� �
���
�� e# %���%��� ��
��	 ��� ���	���� ������� "����	
%�����	# �� �����

��	 ����� ��� * dF (J, e) = |J | − max
i

|EIi| − 1

�����������	�� 
����	!�� 2� 
���������� �� ����
� >� ���� ���	��� ���� ��� 9

O �� ����� �� ��������
�  ����� ����
�� �� 
����� (J, e) ���� B��� ���������� 
���� �� ��������

�� 

���� �� ���� ���� ����� �� ��������� j �� ��������� ������ ��������� ��������� ��

������

�� j�

O �� ����� �� ��������
�  ��� ����
�� �� 
����� (J, e) ��� �� �������� �� 

���� �� ���� 
����

����� j �� ��������� ���� ��

������ 
������������ / �� ����8�������� �� 
������� 2� �����

(�

5��
���	�� 1�)	
	���

���	�������� 5�������� �� ���� ��� �������� ���� 
� ������� �� �� ���� ���
 ��� ���������� &���

���	��� ���������� ����� ��� ���	�������� 5�������� 
������� / 
��
���� �� ����� ��-�� �	��� ��

����� �� �������	������� #�<,&J 9 ���� <��� ,� ��� &�� J����	������-+ ���� 

���� ��������

�� 
������� ��������� �� �������� .��� ���� �� ������� ��� ���	�������� 5��������� �� ��
����

������ �� �� ���� / L�����

� �� 3������ FIIFM

����- ,$
���
 � ����!�
 �
 �� ��������
 �
$ %�
�
� �
 ����

�� �
� 
� �!�(

�"�
 ��� �������


�5� ����������� �� 

������ ���
����� �� 
���� �� 
����� ���� ������ ������� �� ������� �� �-��:��

��� �������� 9 ⎛⎜⎜⎝
ẋ1

ẋ2

ẋ3

⎞⎟⎟⎠ = f(x, u) =

⎛⎜⎜⎝
x2x1 + u1

2x3

x3 + u2

⎞⎟⎟⎠ #F�)K+

K*



���� 5����
�	� �� ���������� �	 �� �
�
���
	� ��� ��������� ����	
������� �	 �� ���	����

y =

(
y1

y2

)
= h(x) =

(
h1(x)

x2(x)

)
=

(
x1

x2

)

��� 
������� ��������� y1 �� y2 ���� ������� �����
��	����� c1 �� c2 �� �� ������� ��� ����


�������  ���� ���������� �� 
������� Ic�

�� ����8����
� �� ������ / ������� ��� z = e(x) = E.x =

(
x1

x3

)
� ����� E =

(
1 0 0

0 0 1

)
�� ��

��� / ����� ��� ��������� ��� ��
��� �����5
����� �
-����� Q �� ��� ���������� ������� ���� �����8

���� ��� �
���:��� �� ��5������� ��������� ���
��������� &��� ������������� ��� 
� �-��:��� ���

�� ��������
� �� 
�������� �� ��
���� ������ ��������� ���������� �� 
�� ������� ���� �������

�� ��������
� ���
��������� ������� �� ����
��� �� ������-�� �� �� �������
� ���  ����� ��� ����@

���

� ���� ��� �
��������� �� ��� 
��������

5���� �� 
��)�����)	
	�� �� �������

�5� ��������� �������	������� �� �-��:��� ���� 
��
����� ������� �� �����
� �������	������� 
����
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Obs =

⎛⎜⎜⎝
∂h
∂x

∂Lf

h ∂x
∂L2

f

h ∂x

⎞⎟⎟⎠ =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0

0 1 0

x2 x1 0

0 0 2

x2
2 + 2x3 2x2x1 + u1 2x1

0 0 2

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
#F�)*+

�� 
��
�� �� ���� �� �� �����
� �������	������� ��� ����� / 3 ��� ��� �� ��������� �� ������
�

������� &��� ���	��� �� 
��
���� ��� 
� �B�� �
���:�� F� ��� �� �-��:�� ��� �������������

�����	���� �������� ������ ��� 	������ �� x �� �� u�

����� ������
� ������ ��� ������������� �����	���� ��� ���������� ��� 
������� ������������ ��

	� �� ��� ��� �� ������ z �� ������ / ������� ��� ��������� ������������� �����	���� ��������

������ ��� 	������ �� x �� �� u�

���	�� ���)�����)	
	�� 	��	�	���
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v1 = rang

⎛⎜⎜⎝
∂h1
∂x

∂Lf h1

∂x
∂L2

f h1

∂x

⎞⎟⎟⎠ =

⎛⎜⎜⎝
1 0 0

x2 x1 0

x2
2 + 2x3 2x2x1 + u1 2x1

⎞⎟⎟⎠ = 3 #F�)E+

KE
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�� �� ��� �� �� �
�� �� ����� ���� ���	��� 	������	 ��� ���	��

��� ���� x1 = 0 �R �� ���� 	��� 2 �� u1 �= 0 �� 1 ������

��

v2 = rang

⎛⎜⎜⎝
∂h2
∂x

∂Lf h2

∂x
∂L2

f h2

∂x

⎞⎟⎟⎠ =

⎛⎜⎜⎝
0 1 0

0 0 2

0 0 2

⎞⎟⎟⎠ = 2 #F�)'+

������ �� 	�
���� ������
�� �� ������8�����	������� ����	����� �� �-��:�� F�)K ��� ����� / v =(
3 2

)
��� ���� x1 = 0�

�� �-��:�� ��� ���
 ������������� �����	����� ��� ���� x1 = 0� ��� �� 
������ 1 ����������

���� �� ����� ��� ������������� �����	���� ��� �� 
������ 2 #������� v2 = 2 < 3+

9������� ��	��	�� �� ������.�)�����)	
	�� �� ���	��	)	
	��

;����:� �� ��5������ G �� �����:� �� �
���:�� K� ���� ���	��� ��������� ���� �� ������� F�(�

���������� ��� 	�
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�� �� ������8�����	������� �� ��������� ���� 
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���������� #�+ �� ���8���������� #&�+ ��� ������� 2�
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�� �� ������8�����	������� �������������

(3, 0) �

(2, 1) &�

(1, 2) �

(0, 3) &�

���� F�( O ������������� ��� 	�
����� �� ������8�����	�������

;��� 
� �������� �5� �� 
��������� 
������ ��� ���������� ��������������� ��� ��� 
��
������

������� ��������� �� 	�
���� �� ������8�����	������� μ = (1, 2)� &��� 
��
����� 9

OBS(Ic, μ) =
(

OBS(1, 1) OBS(2, 2)
)T

#F�)G+

�	�
 OBS(1, 1) =
[

∂h1
∂x

]
OBS(2, 2) =

(
∂h2
∂x

∂Lf h2

∂x

)
�����

OBS(Ic, μ) =

⎛⎜⎜⎝
1 0 0

0 1 0

0 0 2

⎞⎟⎟⎠ #F�KI+

�� ���� 
��������� �������� ����� ����� ��� �� 
�������� 9

rang

[
E

OBS(Ic, μ)

]
= rang(OBS(Ic, μ)) #F�K(+

��� ���� 	�
����� �� ������8�����	������� ����������� ��� ������� / E 
���������� ��� ����

������������ ���� ������������ �� @�

K'
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1

2 3

4

t1,2 t1,3

t2,4 t3,4

���� F�) O �������� �������� ������ ��� ���������� �� ������ �� 
�������

noeud 1 = Ic� noeud 2 = {c1}� noeud 3 = {c2}� noeud 4 = {}

+��������� ��  	�	��
	��

�� ������ ������ ��������� �� 
������� 9 Ic = {c1; c2}� {c1}� {c2} �� {}
���������� {c2} �� ��
��	�� ��� �� ����8����
� ������ 2� 2� �����

rang

⎛⎜⎜⎜⎜⎜⎝
E
∂h2
∂x

∂Lf h2

∂x
∂L2

f h2

∂x

⎞⎟⎟⎟⎟⎟⎠ = rang

⎛⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0

0 0 1

0 1 0

0 0 2

0 0 2

⎞⎟⎟⎟⎟⎟⎟⎟⎠
= 3 > rang

⎛⎜⎜⎝
∂h2
∂x

∂Lf h2

∂x
∂L2

f h2

∂x

⎞⎟⎟⎠ = rang

⎛⎜⎜⎝
0 1 0

0 0 2

0 0 2

⎞⎟⎟⎠ = 2

#F�KF+
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��� ���� 
��������� ��� {c1} �� Ic ��
��	���� ���� �� ������� �� ����8����
� ��

������ / ������� 2�

������ ���������� {c2} ��� 28����6����� ���������� {c1} ��� 28������� #��������� �������� ��� ��

����8�������� �� 
������� ����
������ ��
��� ���� {c1} ��� ��
��	�� ��������� ������
� E+ ��

���������� Ic ��� 28��������� #��������� ������ ��8����� �� ����8�������� �� 
������� ����
������

��
��� ���� Ic� ���������� {c1} �� ���

�����
�� ��� ��
��	�� ������
� 2+�

,��� �	��������� ���������� �� 
������� 	��� {} ��� 28����6�����

+����������	�� 
����	!�� �� 
� ���������� �� ��������

���������� ���������� ���������� �� 
������� Ic �� ���� ��� ����8��������� �� 
������� ��� �����

��� �� 5���� F�)�

5��
���	�� ���������

�

;����:� ��� ��5������� FF �� F(� ���� ���	��� ���� ��� �� ����� �� ��������
�  ����� �� Ic ��� ����

/ ( �� ��� ��� ����� �� ��������
�  ��� ��� ���� ������ ������������ �� ����8����
� E ��	��������
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� ������� ��� {c1}�

����. #����
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�� ���� �	��� ���������� ��� ������� ��� ��� ��������
�� �� ����������� ����8

������ �� �������� �� 
�� ��� ��������� ����� ����� ��� �� ��������
� ��� ������������� �	��� ��

	������ ������ �� ���
� �� ������ �� �������
� ���  ������ 2� ����� �� ��� 
������ �� 
����D���

���	������� ��� ���������� �������	������� #���

����������+ ����� / �� ����� ���� �� �� ���������


������� #�
���������+ �5� �� ��	��� ���� ��� �������� �� ��
��5����� �� �-��:�� ����� / 
� �� ���

���� �� ������� ��  ��
��������� �� ������ ��������� #
����������+� ��� ������� ���� ���������

������ ���� 
��
���� ������
� %<,&2 #%�������� <��� ,� ��� &�� 2����������-+ ��� ��� ���������

���� �� ��������
� ���	����

��� �"#$% &��������' "��� #��
�� $
� %	����������(

&��� �	��� �� ��������� ��� ���
���� ���� ����-��� �� ��������
� �� 
������� �� ���
���������

�� 	�� �� ������ �� ���
� �� ������ �� �������
� ���  ������ .��� ����� �� ��� ���� ���� ����

������-�� �� �� 
���
��� ���� �-��:�� / ������� ���  ������ ��� ���	���� �������� ����8B��� ����� 9

/ ������������ ���� �� ��� �� 
������� �� 
������ �� ����� ���������8���� �	��� �� �� ����

���	��� ������� ��  ��
��������� �� ������ V �� ������ ��� ���� �������� %<,&2 #%��������

<��� ,� ��� &�� 2����������-+� ��� ���
 �� ����� ���� ���� ��������� ���� ��
��5����� ��

�-��:�� / ������������ ����� �� ������
� �� 
������� �� ����� �N�� ��� ��  ��
��������� �����

��������� ������� �� ��
��5�������� �� �-��:�� L;����� �	 ���� FIIK�M� �5� �� ��������� 
�

���	��� 
��
���� ���� ��������� ��������� ���� �-��:�� �������� ���
��� �������� 9⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

x1(k + 1) = −x2(k) + x6(k)

x2(k + 1) = x1(k)

x3(k + 1) = x2(k)

x4(k + 1) = x5(k)

x5(k + 1) = 2x1(k)

x6(k + 1) = x2

#F�KH+

�R �� ������ ��� ������ ��� 9 ⎧⎪⎪⎨⎪⎪⎩
y1(k) = x2(k)

y2(k) = x3(k)

y3(k) = x4(k)

#F�K)+

"�� 
� �-��:��� ��  ��
��������� / ������� 
��������� / ���� ������
� �������

;��� �� ������� ������ ���� ������������ �� %<,&2 �� ����:�� �������	�� / ������ �� ����������
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;��<��� ���)������	��

;�	�������� �� 	�
���� ������ �� �� ����:�� ���	���� 9⎧⎪⎪⎨⎪⎪⎩
y1(k) = x2(k) = x1(k − 1) = −x2(k − 2) + x6(k − 2)

y2(k) = x3(k) = x2(k − 1) = x1(k − 2)

y3(k) = x4(k) = x5(k − 1) = 2x1(k − 2)

#F�KK+

&��� 
��������� �� 
���� ����:�� ��� �� ������ �� y(k) ������ ��������� x2(k)� x3(k)� x4(k)�

x1(k − 1)� x5(k − 1) �� x6(k − 2)�

������ ������ x(k − 2) �� ���� B��� ������ ���/ ������ �� ��������� k #��=
� / y(k)+� �������	����

�� ����� ����� ��������� 
������ k �� ��������� �� ������ ������ k − 2 ��� �� ������ �������� �� ��

 ��B��� �������	������

5��	���	�� ����� 
� ����	

���� ���� �������

�� ��������
� ���
����� ������ ��� ������ x(k − 2) ���� B��� ������ / ��������� k ��=
� / y(k)�

"�������� ���������� ����� �� ��� ���������� ��� �� ������:�� 
������ #��� �� ����� ������������+

����� ��������� k �� ��������� k + 1�

$�� ����� �� �������	������� �� �-��:�� ���������� �������� ��� ���� �� ������ y3� ������ ���

�������	����� ;��
� ����� / 
� �� ���� ������ 	� ��	���� ��������� ������������

���������� �� ��� �������� ��� �� �-��:�� ����� ��������� ������� ��� 
����� ������ 2� �����

�� ������ xk−1 ���� B��� ������ / ��������� k + 1� 
��� �����5� ������:� �� �� ��� �� 
������ 3� ��

�-��:�� ��� ��
��� ���������� / ����������� �� ��  ��B��� �������	������ / ��������� k + 1�

����� �� � ��� 	� ���� �� ��������
� F�)�( �� ��=
� / ���������� F�KK� ���� ���	��� ����������

��� ����� ���������� / ��������� k ���� �� ������� F�F�

x2(k) x1(k − 1) x6(k − 2)

x3(k) x5(k − 1)

x4(k)

���� F�F O 2���� ���������� / ��������� A
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� ��������� k + 1 ���� ��������� ��� ������� ���	����� 9{
y1(k + 1) = x2(k + 1) = x1(k) = −x2(k − 1) + x6(k − 1)

y2(k + 1) = x3(k + 1) = x2(k) = x1(k − 1)
#F�K*+

� ��������� k+1� �� ������� F�F ��� 
������� ��=
� �� ���� ������� ���� ���� ���������� y1(k+1)

�� y2(k + 1)� �� ��� ��� ��� ��	�������� ���� ���������� F�K*� &��� �������� ����� �� ������� F�H�

x2(k + 1) x2(k) x1(k − 1) x6(k − 2)

x3(k + 1) x3(k) x5(k − 1)

x4(k) x6(k − 1)

x1(k)

���� F�H O 2���� ���������� / ��������� Ab(

�� ������� F�H ������ ���/ ��������� k+1� x2(k+1)� x3(k+1)� x4(k)� x1(k)� x5(k−1) �� x6(k−1)

���	��� B��� ��������� ������ ������ ���� B��� ������ / ����������� �� ��  ��B��� �������	����� 

��8
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&��� ���	��� ���������� �������� 
� ��� �� ����� / ��������� k + 2� �� ������� F�H ���� B���


������� #
 � ������� F�)+ �� ��������� y1(k + 2) �� y2(k + 2) ���� ������ ��� ����� ���������� /

��������� k + 2�

x2(k + 2) x2(k + 1) x2(k) x1(k − 1) x6(k − 2)

x3(k + 2) x3(k + 1) x3(k) x5(k − 1)

x1(k + 1) x4(k) x6(k − 1)

x1(k)

x6(k)

���� F�) O 2���� ���������� / ��������� AbF

�� ������� F�) ������ ���/ ��������� k+2� ������ x5 �� ���� ��� B��� �����	� ���:� ��������� k−1�

;��
 x(k − 2) ����� ��� ��������� / ����������� �� ��  ��B��� �������	����� 

����� 
����8/8����

����� ��������� k + 2 �� ��������� k�
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�
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�������� ������ ��� ��
��� ��������� �������
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� �� / �� �����������

%�������� ��  ���� �� �-��:�� ��� ���� �	���� 

����� / �� ��
���� F�H�( 9⎧⎪⎪⎨⎪⎪⎩
ẋ(t) = f(x, u)

y(t) = h(x(t))

z(t) = e(x(t))

#F�KE+

�R x(t) ∈ Rn ��� �� 	�
���� ������� u(t) ∈ Rm �� 	�
���� ��������� y(t) ∈ Rp �� 	�
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�� z(t) ∈ Rq ��� �� 	�
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 q ≤ n+�
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*�����	���	�� �� 
� ���<��� ���)������	��

�5� �� 
��
���� �� %<,&2 �� ���������� �� 
������� Ic� �� �����:�� ����� 
������� / ����������

���������� ��� 	�
����� �� ������8�����	������� ����������� 
���� �������� �� ��������
� F�H�(�

.��� 

�
�� ��� 	�
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(

μ1 . . . μp

)
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��� 9

‖μ‖ = max
i∈Ic

μi #F�K'+

*�1�	�	�� �� )�
	 M(Ic) ���������� ��� ���	���� �� ������.��������
�
	� ���
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���� �����
��

' Ic�

2�� ������ ���	 <	�� �����
�� ' M(Ic)

μ∗(Ic) = min
μ∈M(Ic)

‖μ‖ #F�KG+
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�� 	���� %�� s ≥ μ∗(Ic) �	 μi �� ���	���

�����
� ' ���%�� ���	��� i 	�� %�� μi = {μi, μ ∈ M(Ic)}� "
��
#
∥∥μi

∥∥ ��	 ��$�
 ��� *
∥∥μi

∥∥ = min
μ∈M(Ic)

(μi) #F�*I+

.��� 

���� 
������ i� ���� 
�� ���	��� �� �������� 9

O "�
∥∥μi

∥∥ = 0� ����� Δi = ∞� 
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�� �� ����� �� 
������ i� �� ����� �������

�	��� �� ���8������������ �� �-��:�� ��� ��5��� 2� �������� ������� ��  ��
��������� �� ������
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 Ic \ capteuri�
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∥∥μi

∥∥ �= 0� ����� Δi = s − ∥∥μi
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������ i� ��  ��
����8
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������ ����
����� �� �-��:���

������ �� Δ = ∞� 
��� �����5� ������:� ��� ����� �� 
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-���� � )
 max
i∈Ic

(Δi) �= ∞# ���������� �� ���	���� Ic ��	 �
�
��� �	 ��� ������ �� ����������

���	� �	 ��
���� �� Ic ���	 �����

-���� � )
 max
i∈Ic

(Δi) = ∞# ���������� �� ���	���� Ic ��	 ��������	 �	 �� ����� �� ����������

��
��� �� Ic ��� ������	 ' 3 df (Ic, E) ≥ 1 ��	 *

; )
 Δ = ∞# ����� �� ����� �� ���������� ���	 dF (Ic, E) ≥ 1

; )
 Δ < ∞# ����� dF (Ic, E) = 0
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x(k + 1) = Ax(k)

y(k) = Cx(k)

z(k) = Ex(k)

#F�*F+

�R A =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

0 −1 0 0 0 1

1 0 0 0 0 0

0 1 0 0 0 0

0 0 0 0 1 0

2 0 0 0 0 0

0 2 0 0 0 0

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
�� C =

⎛⎜⎜⎝
C1

C2

C3

⎞⎟⎟⎠ =

⎛⎜⎜⎝
0 1 0 0 0 0

0 0 1 0 0 0

0 0 0 1 0 0

⎞⎟⎟⎠ �� E ��� �� �����
�

�������� �� ��������� 6�
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�� ������� F�* ������ ��� 	������ ‖μ‖ ���� 
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μ1 μ2 μ3 ‖μ‖ = max
i∈Ic

μi

I ( K K

I F ) )

I ) F )

( ( ) )

H ( F H

���� F�* O ;������������ �� ��  ��B��� �������	�����

���� 	�-��� ����� ��������� �� 	�
���� ������
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μ∗(Ic) = min
μ∈M(Ic)

‖μ‖ = 3 #F�*H+

�
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μ1 =

⎛⎜⎜⎜⎜⎜⎜⎜⎝

0

0

0

1

3

⎞⎟⎟⎟⎟⎟⎟⎟⎠
� μ2 =

⎛⎜⎜⎜⎜⎜⎜⎜⎝

1

2

4

1

1

⎞⎟⎟⎟⎟⎟⎟⎟⎠
�� μ3 =

⎛⎜⎜⎜⎜⎜⎜⎜⎝

5

4

2

4

2

⎞⎟⎟⎟⎟⎟⎟⎟⎠
�

�� ��� ���������� F�*I� ���� �	���
∥∥μ1

∥∥ = 0�
∥∥μ2

∥∥ = 1 ��
∥∥μ3

∥∥ = 2� >����������

O ���� �� 
������ (�
∥∥μ1

∥∥ = 0� ���
 Δ1 = ∞� 
���� / ���� ����� 
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������ 1�
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∥∥μ2

∥∥ = 1 ��
∥∥μ3

∥∥ = 2� ���
 Δ2 = s−∥∥μ2
∥∥ = 2 �� Δ3 = s−∥∥μ3

∥∥ = 1�
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J1θ̈1 + f1θ̇1 = U1 + RFx1 cos αf + RFy1 sin αf
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J1θ̈1 + f1θ̇1 = U1 + RFx1 cos αf + RFy1 sin αf
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�� ���7�
���� �� ����
���  ���������� �� �� �-������� ���

O ����� ������������� ���� ����� 9

Max = −(Fx1 +Fx2) cos αf − (Fx3 +Fx4) cos αr − (Fy1 +Fy2) sin αf − (Fy3 +Fy4) sin αr #H�F+

O ����� �����	������ ���� �����

May = −(Fx1 +Fx2) sin αf − (Fx3 +Fx4) sin αr +(Fy1 +Fy2) cos αf +(Fy3 +Fy4) cos αr #H�H+

 ���
	���	�� �� ������� ������ �� �	����	��.����.�������� "��� �� �-��:�� 
��������

�� �������� �	��� �� 	�
�
���� �� �� 

������ �� �� ������ �� ����
�����

���
������ �� �
���:�� �� ������ 
�������� ���� ��� ����� �	��� ��� ������ ��� Jf θ̈f =∑
M( �Fext) �R

∑
M( �Fext) 
��������� / �� ����� ��� ������� ����
�� ��� ������ ���  ��
��

����������� �� �-��:�� 9

O �� ������ ���  ��
�� ��  ��������� 	������� �� ��
 �� �������� ����� �� ���� �	��� �� �� ������

�� ����
���� 9 ff α̇f �� kfαf

O ��� ������� ���  ��
�� ������
� ������������� �� �����	������ ������ �� 
����
� ���� �	���

P 

������ ���7����� ��� ����� ������������� ��� ����� �	��� 9 (Fx1 + Fx2) cos αfD − (Fy1 +

Fy2) sin αfD

O �� 
����� ������ ������ ��� �� ������ �� ����
���� ��� ����� �	��� 9 Uf

����� ���� ��� ����� �	����� �� �
���:�� �� ������ 
�������� ���
��� 9

Jf α̈f + ff α̇f + kfαf = Uf − (Fx1 + Fx2) cos αfD − (Fy1 + Fy2) sin αfD #H�)+

;� �B��� ���� ��� ����� ����:���� �� �
���:�� �� ������ 
�������� ���
��� 9

Jrα̈r + frα̇r + krαr = Ur − (Fx3 + Fx4) cos αrD − (Fy3 + Fy4) sin αrD #H�K+

'I
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������ Fxi ��  ��
���� �� ���������� ��� 
���� ���� �

5!���	�� �����
��	�� �� 
� �	����� �� 
���� 2� 
���������� ���������� �� 	�
�
���� ���
��8

���� �� �
���:�� �� ������ 
�������� �� 
����� ��������� �� 	�
�
��� ����� ���������� IzΓ̇ =∑
M( �Fext) �R

∑
M( �Fext) 
��������� / �� ����� ��� ������� ����
�� ��� ������ ���  ��
��

����������� �� �-��:�� 9

O ��� ������� ���  ��
�� ������
� �������������� ������ ��� 
����
�� ���� P 

������ ���7�����

��� ����� �����	������ ���� ��� ����� ������������� �� 	�
�
��� 9 −a(Fx1 + Fx2) sin αf + b(Fx3 +

Fx4) sin αr + d
2(Fx1 − Fx2) cos αf + d

2 (Fx3 − Fx4) cos αr

O ��� ������� ���  ��
�� ������
� �����	������� ������ ��� 
����
�� ���� P 

������ ���7�����

��� ����� �����	������ �� 	�
�
��� 9 a(Fy1 + Fy2) cos αf − b(Fy3 + Fy4) cos αr #��� ������� ���

 ��
�� ������
� �����	������� ������ ��� 
����
�� ���� P 

������ ��� ����� �� ���

� �� ��

������ ���7���� ��� ����� ������������� ���� ������� �� �� 
��������� ���
+

>���������� ���� �������� ���������� ���	���� 9

IzΓ̇ = −a(Fx1 + Fx2) sin αf + a(Fy1 + Fy2) cos αf + b(Fx3 + Fx4) sin αr − b(Fy3 + Fy4) cos αr

+d
2(Fx1 − Fx2) cos αf + d

2(Fx3 − Fx4) cos αr

#H�*+

5������	�� ��� ������ ��	����� 
��
	���	��
�� �� ����������
�� 	����� ��� ��������

����?�������� "���� / �� ��5������ �� ���������� �� ��������
� H�F�F �� �� �� ����	� ��

��������
� H�F�F� ���� �	��� 
��� ���������� ���
���� �� ������������ ���  ��
�� ������
� ���8

���������� �� �����	������ �� ��������
� H�F�F� �� ���
��� ��� ���� ������ �������� ���� ��������


��  ��
�� �������������� �� �����	������� ��� ����� ��� ��� �������������� ���
���������

"���� L��

����� FII(M� ��  ���� 
�������� �� ��  ��
� ������������� �� ��	��� �� 
����
� ����8



������ ��  ��
���� �� ���������� ��� ������ ��� �� 5���� H�*�

����� 
����� ���� B��� ���������� ��� ���������� ���	���� 9

Fxi = α0sign(Gi)︸ ︷︷ ︸
f. sec

−α1e
−β(|Gi|)sign(Gi)︸ ︷︷ ︸

adhérence

− α2(Gi)︸ ︷︷ ︸
glissement

#H�E+

'(



����
	�� �� 9
�� �� ����� ����� �������� 	������	� ��� ���	�� ��� �� ���
���� ����	�
%��

�R α0 > 0� α1 > 0 �� α2 > 0 �� �R Gi ��� �� ���������� ��� �� 

������ ���� �� ���� i 9

Gi =
Rθ̇i − vx

vx
#H�'+

S���� / Fyi � ���� �	��� ��� �������� �� �� �B��  ���� ��� Fxi ���� 
����  ���  ��
���� �� �������

�� ����	� �	��� α
′
f #�� �_( �� F+ �� �� ������� �� ����	� ����:�� α

′
r #�� �_H �� )+�

����� ���  ��
�� �����	������� �	���� ���� �� ��  ���� ���	���� 9

Fy1 = Fy2 = α
′
0sign(α

′
f ) − α

′
1e

−β
′
(|α′

f |)sign(α
′
f ) − α

′
2(α

′
f ) #H�G+

�R ������� �� ����	� �	��� ��� ��������� ��� 9

tan (α
′
f − αf ) = −vy + Γa

vx

�� ��
���� ��=
� / ��������������� ���  ������ ������ 9

α
′
f � αf − vy + Γa

vx

;� �B�� ���  ��
�� �����	������� ����:��� ���� �� ��  ���� 9

Fy3 = Fy4 = α
′
0sign(α

′
r) + α

′
1e

−β(|α′
r |)sign(α

′
r) − α

′
2(α

′
r)

�R ������� �� ����	� ����:�� 	��� �����������	����� 9

α
′
r � αr − vy − Γb

vx

 	�� ���� ����� ������

"��� u �� 	�
���� 
������ ��� ������� �� 
������� �� �-��:�� 9

u =
(

u1 u2 u3 u4 uf ur

)T

&��� ��������� ��� ��� ������� �����:��� ������� �� 
������� 
������������ ��� ������� ��

���
���� ��� 

�
��� ��� ����� �� ��� uf �� ur 
������������ / �������� �� 
������� ��� ���

������� �� ����
�����

�� - �� 	�
���� 
������ ��� 	�������� �������� ��� �� �-��:��

y =
(

θ̇1 θ̇2 θ̇3 θ̇4 dx dy αf αr Γ
)T

��� 	������� �� �������� ��� ������ θ̇1�θ̇2�θ̇3 �� θ̇4� ���� �������� ��� ��� 
������ ��
����������

��� �����
������ ������������ �� �����	����� dx �� dy ��� �� �."� ��� ������ �� ��������� �	���

�� ����:�� αf �� αr ��� �� 
����� ������ �� ��5� �� 	������ �� ��
�� Γ ��� �� 
������� �����������

2�5�� � ��� �� 	�
���� ������� �� �-��:�� 9

x =
(

θ̇1 θ̇2 θ̇3 θ̇4 vx dx vy dy α̇f αf α̇r αr Γ
)T

'F
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.��� �� ������ �� �������� ���	���� ���� �������� 9⎧⎪⎪⎪⎪⎨⎪⎪⎪⎪⎩
u =

(
u1 u2 u3 u4 u5 u6

)T

y =
(

y1 y2 y3 y4 y5 y6 y7 y8 y9

)T

x =
(

x1 x2 x3 x4 x5 x6 x7 x8 x9 x10 x12 x13

)T

#H�(I+

2� ��������� 
���� ��������� �� �� ��������� ��� ������ �� ��������  ����� #sinαf = αf � sin αr =

αr� cos αf = 1 �� cos αr = 1�+� ��� ��������� H�(� H�F� H�H� H�)� H�K �� H�* �� �-��
������� ���� ���

 ���� ��� �������� �6�� �� �� 
������� 9{
ẋ = f(x) + B.u

y = C.x
#H�((+

�R

f(x) =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

− f1

J1
x1 + RFx1

J1
+ RFy1x10

J1

− f2

J2
x2 + RFx2

J2
+ RFy2x10

J2

− f3

J3
x3 + RFx3

J3
+ RFy3x12

J3

− f4

J4
x4 + RFx4

J4
+ RFy4x12

J4

−Fx1+Fx2
M − Fx3+Fx4

M − Fy1+Fy2
M x10 − Fy3+Fy4

M x12

x5

−Fx1+Fx2
M x10 − Fx3+Fx4

M x12 + Fy1+Fy2
M + Fy3+Fy4

M

x7

− ff

Jf
x9 − kf

Jf
x10 − Fx1+Fx2

Jf
D − Fy1+Fy2

Jf
x10D

x9

− fr

Jr
x11 − kr

Jr
x12 − Fx3+Fx4

Jr
D − Fy3+Fy4

Jr
x12D

x11

a
Iz

(−Fx1 − Fx2 + Fy1 + Fy2)x10 + b
Iz

(Fx3 + Fx4 − Fy3 − Fy4)x12 + d
2Iz

(Fx1 − Fx2 + Fx3 − Fx4)

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
#H�(F+

C =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0 0 0 0 0 0 0 0 0 0

0 1 0 0 0 0 0 0 0 0 0 0 0

0 0 1 0 0 0 0 0 0 0 0 0 0

0 0 0 1 0 0 0 0 0 0 0 0 0

0 0 0 0 0 1 0 0 0 0 0 0 0

0 0 0 0 0 0 0 1 0 0 0 0 0

0 0 0 0 0 0 0 0 0 1 0 0 0

0 0 0 0 0 0 0 0 0 0 0 1 0

0 0 0 0 0 0 0 0 0 0 0 0 1

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
'H
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�� �� ����� ����� �������� 	������	� ��� ���	�� ��� �� ���
���� ����	�
%��

B =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1/J1 0 0 0 0 0

0 1/J2 0 0 0 0

0 0 1/J3 0 0 0

0 0 0 1/J4 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 1/Jf 0

0 0 0 0 0 0

0 0 0 0 0 1/Jr

0 0 0 0 0 0

0 0 0 0 0 0

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
����
��	�� ��� 
� ����
	���	�� �� +�)����

&��� ��������� ��������� ���� ���:�� ��� �������� �6�� �� �� 
������� �� (H ������ G �������

�� ������� �� * ������� �� 
������� ���� %�������

��� �������� �����:���� �� 
� ���:�� ��� ��� ������5�� ���� �������� ��� �� 	�
�
��� ��� ����8

�������� "2%�8�; #����� / ���������� + ���
������� �� �� 
��
������ �� �� �� ������������ ��

	�
�
���� ������ ���� ��� ����������� �� 

������ )� ��� �����:���� ��������� ��� 	������ ���	����� 9

���� i = 1..4� fi = 2Nms �� Ji = 1kgm2

ff = fr = 0.003Nms� Jf = Jr = 1kgm2� kf = kr = 5Nm� Iz = 82kgm2� M = 350kg�

L = 1.205m� a = L/3� b = 2L/3 �� R = 0.35m

α0 = α
′
0 = 1200N � α1 = α

′
1 = 1200N � α2 = α

′
2 = 700N � β = β

′
= 14�

�-��� / ����� ������������ �� ���:�� �� �� �-������� �� %������� ���� ���	��� ����������

����-��� �� �-��:�� �� ����� �� 	�� �� ��� ���������� �������	������� �� ���

���������� ��  ��
8

���������� ������ ���� ������ ���	������� �� 
�� ���������� ����� / �� ����� ���� �� �� ���������


����������

��� +����	� ��	 ��������	 �� �
����� , �
����� ��	 �����	

������-�� �� �� �������
� ���  ����� �� %������ ���� B���  ���� �� ���� ������ <��� ��������

���� ���� ������������� / �� �������
� ���  ����� �� 
������� �5� �� 
����D��� ���	������� ���


���
���� ������������ �� �-��:�� ���:� ��� �� ������
�� ���� �� ������� ����� ����-�� �� �����

�� 	�� 
������ �� ������� ��� �� 
��
�� �� %<,&2 ��� ������� / ��������� ��������� �� 
�������

')
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	�� �� :������ ' 	������ ��� ���	��

���� �� �-��:�� ��������� ������ ���� ����� ��  ��
����������� 2������� ������-�� ��� �������
��

���  ����� ���
��������� ���� ��������� �� ���	��� ���	������� ��� 
���
���� �� 
������� ��

�-��:�� ���:� ��� �� ������
�� �� 
�������� ������� �� 
��������

����� 3
 ����� �
 �

 �
� ����

��

��� ���
���� ������-�� �� �� �������
� ���  ����� �� ����� �� 	�� ��� 
������� ���������� ����

�� ��
���� ������ ���� ���������� / %������ ���� ���������� ������ ��� ������ ��� ����������

H�((�

&��� �	��� �� �-��:�� �� ����@� ����� �	�
 �� �������� �� ��� 
�������� $�� ����-�� �� ����8

���	������� �� �-��:�� ���� ������ �� ���� ����� ��� �����	���� ��� 
�� ���������

�5� ���	��� ��� 
���������
� ��� ���� �� ������ �� �-��:��� ���� 

��������� ��� ��  ��
���������

�� ������ / ������� 
��������� / ������ ���� �� ���������

;��� 
� 
����� ������-�� �� �������	������� �� �-��:�� ������ ����� ��� ������������� ���	��� ���


������� 5 �� 6 
������������� �����
��	����� / �� ������ �� �� �������� �� %������ �� �����8

������� #x+ �� �� �����	����� #y+ ���� �����	�� ���������� �� �-��:���

&��� ����������� �� ��
���� ���� �������� 
��������� ���������� �� 
������� ������� �� ���� ���

����8��������� ����� / �� ����� �� 
������#�+� L�����

�� FIIFM ������� �� ������������ ����8

������� �� 
������� �� 
������ �5� �� ������� �� ������ �� ���������� �� ���
 ���� ���������

�� 	���������� "�� %������� ���� 	�-��� �������� ��� �� ���� �������� �� 
������� ������� ���

{c5, c6} �� ��� ���� ��� ��������� �� 
������� 
�������� ����
������ ��� ���� 
������� c5� c6 ����

�����������

�5� ������� ���� ���� ���� ������-�� �� �-��:��� ���� �	���  ��� �� 
��
�� �� %<,&2�

.��� 
�  ����� �� �-��:�� � ��� ��������� ������ ���� ����� ��  ��
���������� ��	��������� ����

�� �-��:��� �� ������������� ��� ������ ���� �������� ,�

2� �������� 
���� �������� �� 
�������� ���������� ������� 
������ �� 9 
������� #��� ����

��������� Ic1+� ���������
�� �� ��������
� F�)�F ���� ������ �� ���������� �� ������ ��������

�� ��  ��B��� �������	������ �� %<,&2 �� Ic1 �� �� %<,&2 �� Ic1 ��� ������� / 

���� 
�������

������ �� ������ �������� �� ��  ��B��� �������	����� 
��
���� ��� �� 2� ���� �����5� ��� ������ ��

�-��:�� ���� B��� ���������� ������ �� F �������� �� ������� .��� 
����  ��B��� �������	������

�� %<,&2 �� Ic1 ��� �� 1� ������ �� ������� �� ���������� Ic1 � ����� / �� �� ������
� �� ���������

���� 
������� ������ ��� ���7���� ��������� / ����������� �� ��  ��B��� �������	����� ������� ��8

����� 1 ������� �� ������� �� ����� ������ B��� ������� ���� ����
���� ��
������ �� ��
��5�����

�� �-��:��� �� %<,&2 �� Ic1 ��� ������� ��� 
������� 5 �� 6 ��� �� 1 �� �� ��� ���� / ����5�� ���

������� ��� ������ 
�������� ��=
� ��� ���������� ��� �� %<,&2 ������� �� ��������
� F�)�F

�� �����:�� 

������� 
���� �� ������� ��� %<,&2 �� Ic1 ��� ������� / 

���� 
������ ���

�� ��∞ �� ��� �� %<,&2 �� Ic1 ��� �� 1� ���� ���	��� ���� ��� Ic1 ��� ��������� �� ��� ���
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����
	�� �� 9
�� �� ����� ����� �������� 	������	� ��� ���	�� ��� �� ���
���� ����	�
%��

������ �� ��������
�  ��� ��  ����� ���� �����
��	����� ��� �� ��������� �� ���� / (� �� ��������

��� 
�
����� �	�
 ������-�� ���
������ ��� ���� �	��� ������ �� ����	�� ��� �� ���� �������� ��


������ ������� ����� ���������� {c5, c6}�
"� ����������� ���� 
���������� ���������� �� 
������ ������� Ic2_{c5, c6}� ���������
�� �� ��8

����������� �� %<,&2 ���� ������� ��� �� ������ �������� �� ��  ��B��� �������	����� ��� �� 7 ��

��� �� %<,&2 �� Ic2 ��� ���� / K� ������ �	�
 ���������� �� 
������ Ic2 � ������ ��� 
����:������

��������� �� E �������� �� ������ �� �� ���� ��� 
������� ��� �� �������� ������ ������� ���������

/ ����������� �� ��  ��B��� �������	����� �������� ������� ��8����� K �������� �� ������� 2�5��

�� %<,&2 �� Ic2 ��� ������� ��� 
������� c5 �� c6 ��� �� K� ;� �B��� �����:� ��� ���������� ��

��������
� F�)�F �� �����:�� 

������� ���� ���	��� �� ������� ��� ���������� �� 
������ Ic2

��� �������� ��
� 
��5��� ��� ��������� ����	�� �� ����� �� 
� ��������
��

����� ����-�� �� �� �������
� ���  ����� �� ����� �� 	�� ��� 
������� � ���  ���� ���� �� ��� ��

�������� ��  ���� ���	��� �� ��

��

� ���� �� ���� �� ���
� ���� ������ �� ><2 #>���� <���8

���� 2���������+ ���� ��
��� ��

����� �� ��
��5�������� ����� / �� ����� �� 
������� �� ����

��	������ ���� 
� �������� &��� ����  �
��������� ���������� ��� ��� �� ���� ���
����������

����� 3
 ����� �
 �

 �
� �������

��

;� �B�� ��� ���� ������-�� �� �������	������� �� %������� ���� ����������� ��� ���
���� ��������

���� �� �����:�� 

������ �5� ������-��� ���	������� ��� ���������� ���

���������� �� %������

����� / �� ����� ���� �� �� ��������� �
����������

&���� ��� 5��� ���� 
� ���	��� �� ��

��

� ��� ��B��� 
������ �� ���	�� ��� ���7�
����� ������

�� ����� ���
���������� �� ����� ���
 ��� ������������� ��� ���������� �� ������ ���� �

��������

&��� 

�������� ���
 z =
(

x5 x6 x7 x8 x13

)T

����  ��
��������� �� ������ / �

�����

2� ����� 
���� ���� ��� 	������� �� ��������� �������������� �� �����	������� ����� ��� �� 	������ ��

��
�� ����� ���� ������� �� 
����C��� �5� �� ���	�� ��� ���7�
����� #x6 �� x8+ / ��� 	������ ��


������� #x5 �� x7+ ���� �� ������ 
��������� #x13+�

"���� / ������-�� �� �-��:�� 
���� ������� ���� �� �����:�� ������� ���� 
��������� ����	�
 ��

������ �� �������� �� �� ������ �� ���
����� ��  ��
��������� ��� ���7���� �

�������� 2���������

�	�
 ���������� ���� ������� �� ���
����� ����� �� �� ������� ��� �� �B�� 
C�� �� 	�
�
���� ��

 ��
��������� ��� ��
��� �

��������

������ ���� ��� ��������� �� ���� �
��������� #��� ��� ��������� {u1, u3} �� {u2, u4}+ ���� ��8

������ ��� ������� / ��  ��
����������

;��� �� 

������ )� ���� ����������� ���������� ���
��������� {u1, u2, u3, u4, u5} 
���� ��������

������� #���� ������������� ���
 ��� ������� �� �������� ����:��+� 2������� ��� ���������� ��

�� ��� ����  ���� ��� �� ������ 
��������� ������� �� �������� �	���� ������ ���� �����������

��
��� �� ���������� ���
��������� {u1, u2, u3, u4} �	�
 ������ ��  ��
��������� ��� ��
��� �

��8
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��1� ������ ����� �������� ���� �� ���	��� �� ����	
�������	 ������

������ ;��� �� �����:�� ������ 
���� �� �� ��� ��� �� ������ �� ���
���� ��� ���� ������� �/

��
��� �	�
 ���������� ���
��������� {u1, u3, u4, u5}� ��  ��
��������� ��� ��
��� �

�������� "� ���

���� �� ���� ������������ ��

����	������ �� �� ��� �� �B��� &��� �������� ���
� ���� ��� �����


�� �� �� ����� ��
��5����� �� ��� �� 
������� �5� �� 
�������� / ���	�� �� ���7�
����� ��������

����� #����
���� �
� � ����!�
 �
 �� ��������
 �
$ %�
�
�

����� �
��� ������-�� ����� 7���� ��� �����
����� ��� %������ ��� ���
���� ���������� ���� ��



������ F� &��� 	�-���� ���/ ������ ��� ��������� �� 
������� �� ���
��������� ��������� ����

���	��� ������ ��������� 
������� ��P�� �
��������� �� ������ ��
��� ��  ��
��������� �� ������

�����	���� �� �

��������

����� ��������
� ���� �������� �� �������� �� 
�������� ���� ������ �� 
��
���� ����� ���

�������� �� ������ �� ���
� ��� %������ ��� 
������� ��������� �
��	� ��� �� ���� �� 
�������

�� ���
���������� ;��� �� ������ 
���� ��� 
������� ��������� �
��	� ���������� ��� �� ����

���
��������� ��� ���� ���� �� ���
�� ;��� ��� ���	��� �� ��

��

� ����������� �� ������ �����������

��������� 
���� �������
� ��� �� ���� �� 
��������

��� ������ ����� �
������ �
�� �� 	�	���� �� �
����
�������

�
����

�� ��������
� ���
����� ���� 
��5��� �� 
���
��� �� %������ / ������� ���  ����� Q ���� �	���

�� ������ �� ���
� ��� 
������� ���������� �� ����  ��� �������� ����� 
������� ���  ��
������

���� �� 
�� �������� �� ��� �� 
���� 
������� ��� �� ��������� ��� 	�
�
���� �� ���	�� ���

���7�
����� �� �� ����
� / ��� 	������ ��������� �� �� ����
��

;��������� ���� ���:�� ��� ��������� �� �����:�� �
��� �� ����� ����� #eH�)�(+ 
������� / ������

�� ���
� ��� %������ ��� 
������� ��� ���
���� ������������ ������ �� 	�
�
��� ������ B���


������ �� ���	�� ��� 	������� �� �������� �� 
�������� ���� 

�
��� ��� ����� ����� ��� ���

������ �� �������� ��� ����� �	��� �� ����:���

����7�
�� ����� �� ���	�� ��� ���7�
����� / ��� 	������ ������� �� 
������� / ���
���� �����������

���� 
�������� �� ����� ��� �� ������ �� �����5
����� �� ���7�
����� ���� ���� 
����C�����

������ �	�
 
� �-��:�� �� 
������� �� 
��
���� �� 	�
�
��� ������ ���	�� ���������� ���7�
������

/ ���������� 	��������

��+�� ���
 
� ����
 � 
�
 �������
 ��� ��
����
 �����������

'��������	�� �� )���
�
� 
	����	����

$�� ���
������� ��������� �� �� 
������� ��� ���
���� ����������� ���� ��� ������� B��� ����	��

���� L>������ �� &������8�-���� (GGKM L�������� (GGKM L������@� FIIHM� &��� �� ��������� �
� ���
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�� �� ����� ����� �������� 	������	� ��� ���	�� ��� �� ���
���� ����	�
%��

��� ������ ����
������

"��� �� �-��:�� ��� �������� �6�� �� �� 
������� ��5�� ��� �� �������� ���	����� �R x ����������

�� 	�
���� ������� u �� 	�
���� �� 
������� �� y �� 	�
���� �� ������ 9⎧⎪⎨⎪⎩ ẋ = f(x) +
p∑

i=1
gi(x).ui

y = h(x)
#H�(H+

J� ��������� ��� �� ����� ��� �� �-��:�� H�(H ����:�� n ����� #��������� �� 	�
���� x+ �� ��

������ m �� 
�������� #�� �������+ ���� �� ������ p �� ������� #���� �-��:�� 
����+� .��� ��

��� �-��:��� �� ����	�� �����:�� ��� ������� �� ����� ����� ������ yi� i ∈ {1, ..., p}� ���
��� ����

��  ���� 9

ẏi = ḣi(x) =
p∑

j=1

∂hi(xj)
∂xj

.ẋj =
p∑

j=1

∂hi(xj)
∂xj

.(fj(x) +
p∑

k=1

gjk(x).uk) #H�()+

��=
� / �� ��5������ �� �� ����	� �� ��� ������ / �� ���� )(� �� �-��:�� H�() �� ��� ���� ��  ����


����
�� ���	���� 9

ẏi = Lfhi(x) +
p∑

k=1

Lgk
hi(x).uk #H�(K+

2� ��������� ��� Lgk
hi(x) = 0 ∀k ∈ {1, ..., p} #���� ��� ẏ ����� ���  ��
���� �� u+� �� ����	��

��
���� �� �� ������ yi ���
��� ���� ��  ���� ���	���� 9

ÿi = Lf (Lfhi(x)) +
p∑

k=1

Lgk
(Lfhi(x)).uk = L2

fhi(x) +
p∑

k=1

Lgk
Lfhi(x).uk #H�(*+

2� ��������� / ���	��� ��� Lgk
Lfhi(x) = 0 ∀k ∈ {1, ..., p}� �� �� ������� ��� ����	������ 7�����/


� ������ 
������� �� �-��:�� ���������� �� ����:�� �����
���� �� 	���� ���� ��� ����	����� /

������� l #l ≥ 2+ 9

yl
i = Ll

fhi(x)) +
p∑

k=1

Lgk
Ll−1

f hi(x).uk #H�(E+

�� ����� ������ �� �� ������ yi� ���� ρi i ∈ 1, ..., p ��� �� ������ ������� �� ����	������ �� ��

������ yi ���������� ��  ���� ������D��� �� ����:�� �����
��� ��� 
������� �� �-��:�� 9

ρi = min{l > 0 tel que Lgk
Ll−1

f hi(x) �= 0, k ∈ {1, ..., p}} #H�('+

�� 	�
���� ξ(x) �� �� �����
� Δ(x) ���� ����� ��5��� �� �� ����:�� ���	���� 9⎛⎜⎜⎝
yρ1
1
���

y
ρp
p

⎞⎟⎟⎠ = ξ(x) + Δ(x).u #H�(G+

''
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�������	 ������

�	�
 9 ⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

ξ(x) =

⎛⎜⎜⎝
Lρ1

f h1(x)
���

L
ρp

f hp(x)

⎞⎟⎟⎠
Δ(x) =

⎛⎜⎜⎝
Lg1L

ρ1−1
f h1(x) . . . LgpL

ρ1−1
f h1(x)

. . . . . . . . .

Lg1L
ρp−1
f hp(x) . . . LgpL

ρp−1
f hp(x)

⎞⎟⎟⎠
#H�FI+

;��� 
�� 
���������� �� �� ��������� ���� ������ �� ����8����
� �� Rn� ���� M0� ���� ������ ��

�����
� Δ(x) ��� ��	�������� ���� 9

rang(Δ(x)) = p

����� �� ������ ������ ���	��� ������ �� ��
������ �� �-������� ��� ������� �� �-��:�� H�(H ����

M0 9
u = α(x) + β(x).v{

α(x) = −Δ−1(x).ξ(x)

β(x) = Δ−1(x)

#H�F(+

�� 	�
���� v ��5��� �� ���	��� 	�
���� �� 
������� �� �� 	���� 9

v =

⎛⎜⎜⎝
v1

���

vp

⎞⎟⎟⎠ =

⎛⎜⎜⎝
yρ1
1
���

y
ρp
p

⎞⎟⎟⎠ #H�FF+

;� ����� �� ������ �� ���������
���� #

�������� �� 
���������� ��
����+ Φi : x → zi ��5��

��� 9

zi = Φi(x) =

⎛⎜⎜⎜⎜⎜⎝
hi(x)

Lfhi(x)
���

Lρi−1
f hi(x)

⎞⎟⎟⎟⎟⎟⎠ dim(zi) = ρi, ∀i ∈ {1, ..., p} #H�FH+

;��� �� ���	��� �-��:�� �� 
����������� �� �-��:�� ���
�� ���
��� ���� ��  ���� ��
������ #��

 ���� �� ,����	�A-+ ���	���� 9

żi =

⎛⎜⎜⎜⎜⎜⎜⎜⎝

0 1 0 . . . . . .

0 0 1 0 . . .

. . . . . . . . . . . . . . .

0 . . . . . . 0 1

0 . . . . . . . . . 0

⎞⎟⎟⎟⎟⎟⎟⎟⎠
.zi +

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎝

0
���
���

0

1

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎠
.vi #H�F)+

yi =
(

1 0 . . . 0
)

.zi #H�FK+

'G
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���� ����	�
%��

vi = y
(ρi)
i = Lρi

f hi(x) +
p∑

k=1

Lgk
Lρi−1

f hi(x) #H�F*+

;��� �� 
�� �R �� �����
� Δ(x) ��� �� ���� k �� ������ / �� ��������� � �� �-��:�� #����
p∑

i=1
ρi =

k < n+� �� ���� �� 
�� ����8������� ����8������ #p = 1+� �� ���������
���� ���� B��� 
��������

�� �� ����:�� ���	���� LU
����� FIIFM 9

z = Φ(x) =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

h(x)
���

Lk−1
f hi(x)

Ψ1(x)
���

Ψn−k(x)

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
#H�FE+

�R ���  ��
����� Ψi(x) 	���5��� ��� 
��������� ���	������ �� �R xe ��� �� ����� ����������� ��

�-��:�� #H�(H+#���� f(xe) = 0+ 9⎧⎨⎩ Ψi(xe) = 0
n∑

i=1

∂Ψi(x)
∂xi

gi(x) = 0
∀i ∈ {1, ..., n − k} #H�F'+

;��� 
� 
��� �� 
��	���� �� 	���5�� ��� �� ������ �� ���
����� ��� �����	���� #�-������� ��������

������� ����� �-������� ��� @����+� ��� 
��������� / �� �-������� ��� ����� Ψ1� ���� Ψn−k ���

��� ��� �� ��������� n − k ��� �������

�� ��� �������� ������������ ��� �� ��������� ������������ ��� 
�������� ������� ���� ��  ����

���	���� 9

ui =
∫

vidt ⇔ u̇i = vi #H�FG+

�� 	������� ui ��	���� ��� ���	���� 	������� ������ ������ ��� vi ��� �� ���	���� 
������� 9 ��

������ ����� ���� ���
���� �-��������

3������ AB���
�# �>>�C 9 ���� �� �-��:�� ��
��� ��� ��� ��������� ������ ���	����� 9⎧⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎩
ẋ1 = −x1 + 2+x2

3

1+x2
3
u

ẋ2 = x3

ẋ3 = x1x3 + u

y = x2

#H�HI+

�� ����� ����������� �� 
� �-��:�� ��� xe = 0� 2� ����	��� ����  ��� �� ������ - ��� ������� ��

������ �� 
������� u ������D� �� ����:�� �����
��� 9{
ẏ = ẋ2 = x3

ÿ = ẋ3 = x1x3 + u
#H�H(+

GI



��1� ������ ����� �������� ���� �� ���	��� �� ����	
�������	 ������

.�� 
���������� �� ����� ������ �� �� ������ - ��� ����� ���:� �	��� �������� �� �������� H�F*� ��

���	���� 
������� v ��������� ��  ��
���� �� �� 
������� u ���� ��  ���� ���	���� 9

v = ÿ = Lρi

f h(x) + LgL
ρi−1
f h(x).u = x1x3 + u #H�HF+

�� 

�������� �� 
���������� ��
���� Φ1 : x → z1 ��5�� ��� H�FH �������
��� ���� ��  ����

���	���� 9 {
z1 = h(x) = x2

z2 = Lfh(x) = x3

#H�HH+

����� �� ����� ������ �� �� ������ y 	��� ����� �� ��� ��� 
��������� �� ������ / ������� ��

�-��:��� ���� / ������ �� 
��	���� ���
 �� 	���5�� ��� �� �-��:�� ��� ����
����� 
����8/8���� ���

�� ������ ���8�����	���� �� ���
����� #�-������� ��� @����+ ��� ������� ����� �-������� ���

������� �� 5���� u = 0 �� �� ������������ �� 	�
���� ������ x / {x2 = 0;x3 = 0}� �� ���
�����

�� ������ ����� �� �-��:�� ������ ���	��� 9

ẋ1 = −x1 #H�H)+

2�5�� �� ����  ��� 
�������� ��� 	�������� z1 �� z2 ���� 
��������� �� ���������
����� &���

���	��� ��� ������� �������� �� �������� H�F' 9

z3 = Ψ(x1, x2, x3) ��� ���

⎧⎪⎨⎪⎩
Ψ(0, 0, 0) = 0
2∑

i=1

∂Ψ(x1,x2,x3)
∂xi

gi(x) = 0
�R

⎧⎨⎩ g1(x) = 2+x2
3

1+x2
3

g2(x) = 0; g3(x) = 1
�� ������ ����� �� �������� ���������� ��� ����	��� ���������� ���	����� 9

2 + x2
3

1 + x2
3

∂Ψ(x1, x2, x3)
∂x1

+
∂Ψ(x1, x2, x3)

∂x3
= 0 #H�HK+

�� ���������� �� 
���� �������� ��� �� ���
��� �� �� ���������� ��� 	�������� 
������ / �� ��������

���	���� ��� ����� ��� Ψ(0, 0, 0) = 0 9

z3 = Ψ(x1, x2, x3) = −x1 + x3 + arctan x3 #H�H*+

�� ���������
���� ������ ����� ���������� �� �-��:�� H�HI ����  ���� ������� 9⎧⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎩
ż1 = z2

ż2 = v = z2(z2 + arctan z2 − z3) + u

ż3 = (z2 + arctan z2 − z3)(1 + 2+z2
2

1+z2
2
z2)

y = z1

#H�HE+

���
	���	�� �� 
� ������� �� )���
�
� 
	����	���� 2 ����� �������

�� ���
��� �� ���
���� ����������� ��������� 
�8������ ��� ��������� �� ���:�� �� %������

����� / �� ���� 'H �6�� �� �� 
��������

G(



����
	�� �� 9
�� �� ����� ����� �������� 	������	� ��� ���	�� ��� �� ���
���� ����	�
%��

.��� ��������� 
���� ���
���� ��  ��� �	��� �� �B�� ������ ��������� �� �� �������� �5� �� 
��8

������ �� ����� ��� ��� �
��������� ��� ���� ��������� ��� %������� �� ��� ����������� ����������

��� ������� ��� 	�������� ��� ���� ����
������ ��Z���
��� ��� 
�� �
���������� �
�� ��� ������ ��8

����� �� ���
���� �������� ����
������ ��� ��� 	������� �� �������� ��� ����� �� ��� ���� �������

�� ����
���� �������� ��� ������� �� �������� ��� ������ &� ���	��� �������� ��� ��� 
������� #����

�� ������ ���
���������+� ���� ����������� ���
 ��� 
������� ��� 	������� �� �������� ��� �����

����� ��� ��� 
������� ������� �� �������� ��� ����� �	��� �� ����:���

�� ������ ��� ������� ��� ���� ��������� ��� ������� yu�

yu = Cu.x = h(x)

�	�


Cu =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0 0 0 0 0 0 0 0 0 0

0 1 0 0 0 0 0 0 0 0 0 0 0

0 0 1 0 0 0 0 0 0 0 0 0 0

0 0 0 1 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 1 0 0 0

0 0 0 0 0 0 0 0 0 0 0 1 0

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
�� �����:�� �
��� 
������� / 
��
���� �� ����� ������ �� 

���� ������⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

ẏu1 = ẋ1 = − f1

J1
x1 + RFx1

J1
+ RFy1x10

J1
+ u1

J1

ẏu2 = ẋ2 = − f2

J2
x2 + RFx2

J2
+ RFy2x10

J2
+ u2

J2

ẏu3 = ẋ3 = − f3

J3
x3 + RFx3

J3
+ RFy3x12

J3
+ u3

J3

ẏu4 = ẋ4 = − f4

J4
x4 + RFx4

J4
+ RFy4x12

J4
+ u4

J4

ẏu5 = ẋ10 = x9

ẏu6 = ẋ12 = x11

#H�H'+

��� ������� �� 
������� ������������ ���� ������������ ��� ����	��� �����:��� ��� ������ ���8

��:��� ������� ���������� �����

ρ1 = ρ2 = ρ3 = ρ4 = 1

.�� 
������ ���� yu5 �� yu6 � ���� ����	��� ��� ��
����  ����

{
ÿu5 = ẋ9 = − ff

Jf
x9 − kf

Jf
x10 − Fx1+Fx2

Jf
D − Fy1+Fy2

Jf
x10D + u5

Jf

ÿu6 = ˙x11 = − fr

Jr
x11 − kr

Jr
x12 − Fx3+Fx4

Jr
D − Fy3+Fy4

Jr
x12D + u6

Jr

#H�HG+

����� ÿu5 �� ÿu6 ��������� ��� ������� �� 
�������� ��� ������ ������ � 
������������� ρ5 ��

ρ6 ���� ����� / F�

ρ5 = ρ6 = 2

GF



��1� ������ ����� �������� ���� �� ���	��� �� ����	
�������	 ������

����� ����� ���������� H�FI 9⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

ξ(x) =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

L1
fh1(x)

L1
fh2(x)

L1
fh3(x)

L1
fh4(x)

L2
fh5(x)

L2
fh6(x)

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
+ =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

f1(x)

f2(x)

f3(x)

f4(x)

f9(x)

f11(x)

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

Δ(x) =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

LgL
0
fh1(x)

LgL
0
fh2(x)

LgL
0
fh3(x)

LgL
0
fh4(x)

LgL
1
fh5(x)

LgL
1
fh6(x)

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
=

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1/J1 0 0 0 0 0

0 1/J2 0 0 0 0

0 0 1/J3 0 0 0

0 0 0 1/J4 0 0

0 0 0 0 1/Jf 0

0 0 0 0 0 1/Jr

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

#H�)I+

�� u = α(x) + β(x).v

�	�
 �����:� ���������� H�F(�

α(x) = −

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

J1f1(x)

J2f2(x)

J3f3(x)

J4f4(x)

Jff9(x)

Jrf11(x)

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
#H�)(+

β(x) =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

J1 0 0 0 0 0

0 J2 0 0 0 0

0 0 J3 0 0 0

0 0 0 J4 0 0

0 0 0 0 Jf 0

0 0 0 0 0 Jr

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
#H�)F+

�� 	�
���� v ��5��� �� ���	��� 	�
���� �� 
������� �� �� 	���� 9

v =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

v1

v2

v3

v4

v5

v6

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
=

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

ẏu1

ẏu2

ẏu3

ẏu4

ÿu5

ÿu6

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
#H�)H+

GH



����
	�� �� 9
�� �� ����� ����� �������� 	������	� ��� ���	�� ��� �� ���
���� ����	�
%��

;� ����� �� ������ �� ���������
���� Φ : x → z ��5�� ��� 9

z = Φ(x) =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

h1(x)

h2(x)

h3(x)

h4(x)

h5(x)

Lfh5(x)

h6(x)

Lfh6(x)

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
=

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

x1

x2

x3

x4

x10

x9

x12

x11

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
#H�))+

;��� �� ���	��� �-��:�� �� 
��������� #z+� �� �-��:�� ���
�� ���
��� ���� ��  ���� ��
������

#��  ���� �� ,����	�A-+ ���	���� 9

ż = Azz + Bzv #H�)K+

�	�


Az =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0

0 0 0 0 0 1 0 0

0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 1

0 0 0 0 0 0 0 0

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
�� Bz =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0 0 0

0 1 0 0 0 0

0 0 1 0 0 0

0 0 0 1 0 0

0 0 0 0 0 0

0 0 0 0 1 0

0 0 0 0 0 0

0 0 0 0 0 1

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
�� ���
���� � ��� ������ �� 
���������� ��� ���������� �� ������ ����� ����������� J�� �� - �

�������� ����� ��� �� ���� ��� �������� ��  ��� ���
 ������ �� ���
� �� ���������� ������ ����

5������� 
���� �������������� 2�5� �� �����:�� ����� 
��������� / ���������� �� 
������� / ������

�� ���
� ��� 
� �-��:���

 	�� �� �
��� ���� ���	������ ������

.�������� ������ ��� ��
�������� ��� ��� �����:���� �������� ���� �� ���:�� �� �5� ��B��� �������

��� �������������� �������	����� / ���� �������� ������ ����������

��� �����	������ ����� ��� �� ���� �������� L$�A��� (GE'M L;������ �	 ���� (G''M ��� ���� �������

������� ��	������� ���� �� 
�� �������� L;��A���	� (GGFM L;��A���	 �	 ���� (GGIM

L0��
��� �� Y�A� (G'*M L0��
��� �	 ���� (G'EM 9

ẋ = Ax + Bu #H�)*+

y = Cx #H�)E+

G)



��1� ������ ����� �������� ���� �� ���	��� �� ����	
�������	 ������

���� ����
���� ��� ��������� ��� �����	������ ��������� ��������� ��� / ���� ��� �� ����� ��


����
���� ������� ���  ��
���� ���
������� #��  ��
���� �����+ 9

˙̂x = Ax̂ + Bu + L.sign(y − Cx̂) #H�)'+

�R ��  ��
���� ����� ����� �� �������� �� 	�
���� 
������ �� (y − Cx̂) ��� �� 	�
���� 
�������

sign(z) = [ sign(z1) sign(z2) ... sign(zn) ]T #H�)G+

"� �� �����
� �� ���� L ��� 
����
������ 

������ �� ���������� ���� �� �-��:�� H�)' �� �������

��� �� ��� �
� y − Cx̂ = 0 �� �������	����� ��� ����� ����	����� / �� �����	����� ������� �������

�������	����� ���� B��� 
��?� ��  �?�� ������������ ��� �� ���
��� �������� ���� L$�A��� (G'HM

L;��A���	 �	 ���� (GGIM�

����� ���
��� ��� ��������� ���� �� �-��:�� H�)*� H�)E� 2� ��������� ��� ����� �������� ��������

��� 	�������� ������� �� ���� B��� ��� ���� ��  ���� 9

ẏ = A11y + A12x2 + B1u #H�KI+

ẋ2 = A21y + A22x2 + B2u #H�K(+

�R xT = [ x1 x2 ]T �� A =

(
A11 A12

A21 A22

)
�

�������	����� / ���� �������� ���� �� ������� ���� �-��:�� ��� 9

˙̂y = A11ŷ + A12x̂2 + B1u + L1sign(y − ŷ) #H�KF+

�� �-��:�� ���� �������� ������������ ������� �� �������-��� ���������� H�KI �� ���������� H�KF

� ��  ���� 9

˙̃y = A11ỹ + A12x̃2 − L1sign(ỹ) #H�KH+

.�� �� 

��� ��������� �� �� �����
� �� ���� L1 �� ���������� �� ������� ��� ���������� H�KH ��

���� �� �� ��� �
� ỹ = 0�

.��� �� ��
��� ����8�-��:�� H�K(� ���� ���	��� �������� ���������� �������	����� ���	���� 9

˙̂x2 = A21ŷ + A22x̂2 + B12u + L2L1sign(y − ŷ) #H�K)+

��� ����� 
���� ������ ������������ 9

˙̃x2 = A22x̃2 − L2L1sign(ỹ) #H�KK+

"���� �� ���
��� �� 
������� ����	������� �� �-��:�� �� ���� �������� �� 
������� 
���� ��

L1sign(ỹ) ����� ������
� ��� �� 	����� ����	������ (L1sign(ỹ))eq ��� ���� B��� 
��
���� / ������

GK
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�� �� ����� ����� �������� 	������	� ��� ���	�� ��� �� ���
���� ����	�
%��

�� ����8�-��:�� H�KH �� ��������� ��� ỹ = 0 �� ��� ˙̃y = 0�

�����

(L1sign(ỹ))eq = A12x̃2 #H�K*+

2� ������?��� H�K* ���� H�KK� ���� ��������

˙̃x2 = (A22 − L2A12)x̃2 #H�KE+

�� ���� B��� �������� ��� �� �� �-��:�� H�)*� H�)E #�� ����� (A,C)+ ��� �����	���� ����� �� �����

(A22, A12) ��� ����� �����	���� ��� ��� 
���������� ��� �� 

��� ��������� �� L2� �� 
��	�����
�

�� �������	����� 	��� x̃2 → 0 ���� B��� ��������

������� ���������� L1 �� L2 V

"��� ��  ��
���� �� �-�����	 ���	���� 9

V = ỹT ỹ > 0 #H�K'+

�����

V̇ = 2˙̃y
T
ỹ #H�KG+

�� ����� / ������� ��� ���� ��� 	������ �� L1 �� L2 ���� 

������� ���� �	��� V̇ < 0

V̇ = 2(ỹT AT
11ỹ + x̃2

T AT
12ỹ − (sign(ỹ))T LT

1 ỹ #H�*I+

.����� L1 ���������� ����� (sign(ỹ))T LT
1 =

∑ |ỹi| li
�R ỹT = [ ỹ1 ỹ2 ... ỹp ]T �� li 
��������� / �� 	����� �� �:�� ����� �� �� ��������� �� L1�

J�� ��� �� �
���:�� �� �
��

-8"

T���@� ���� �	���

ỹTAT
11ỹ ≤ ‖ỹT ‖‖AT

11‖‖ỹ‖ #H�*(+

x̃2
T AT

12ỹ ≤ ‖x̃2
T ‖‖AT

12‖‖ỹ‖ #H�*F+

�� ��� �� �
���:�� ��� ������	����
� ��� ������� ���� ��	��� ����� ������ α ∈ R∗+ ��� ���∑ |ỹi| li ≥ α
∑

li‖ỹi‖�
>���������� �� ��������� ��� �������	����� ��� x2� ������ ��� ���
����� �� �C��� 
��	����

#x̃2 → 0+� �� �� 

��������� ��� 
��6
����� li ��6������� ���	�� �� ������� ����� �����	�����


��	������ ��������� #ỹ → 0+� 2������� ��� 	������ ��� li ���	��� B��� ��������� �5� ���7�����

�������	������

<���� �� �
����� ��� ��� �����	������ / ���� �������� ��� ��������� ���� �� 
�� �������� ��� ���
�

�� ������5
����� ���� ���� B��� ������� �� 
�� ��� �������� 
���� ���� %������� ������ �	�
 ��

�����	����� �� ������ ��� 
��	���� 	��� �� 	����� ������� �� ���
���� ����������� ���� B��� ����������

��������

G*



��1� ������ ����� �������� ���� �� ���	��� �� ����	
�������	 ������

�������� ��� ������ ��5���

"�� 
� ���	��� �-��:��� ���� ������� �� ���
� ��� 
������� ��� ������ ������ v = −K.z+H.r


��
���� ��� ���
����� �� �C���� .������ � ����� �� �-��:�� H�)K ���
��� 9 ż = (Az − Bz.K)z

��=
� / 
���� 
�������� �� �-��:�� ���� ���	�� ��� �� ����
�� r ���� �� 	������ �� ��������

��� ����� �� �� ����	� �� ������� �� �������� ��� ����� �	��� �� ����:��� �� �-��:�� ��������� ���

���
���� ����������� #e H�)�(+ ��������� �� ���������� �� ������ #e H�)�(+� ������ ���� �	��� ����
��

��� 
������� ��� ������ ������ #e H�)�(+� ���� B��� ���������� �� ����:�� �

�������� 
����

������� ��� �� 5���� H�E�

+
+

+
+

)(xf

B C

Observateur)ˆ(xf)ˆ(x

uv y

RobuCarSystème linéarisé par 
bouclage linéarisant

x̂ u
y

H
-

+

K

réf

���� H�E O "��	� �� 	������ �� �������� �� ����� �� �������� �� ��������

��+�� �
��� �
 ���4
�����
 � 
�
 ���
��
 �
 ��%��
��


�� �-��:�� ��� 
��?� �	�
 ��� 
�������� �� 	������� �� �������� �� �� ����	�� �������� �� ���8

������ ;��� ����� �����
������ �� �-��:�� ���� ���	�� ��� ���7�
����� / ��� 	������ �� �� ����
��

;��
� �� ����� �� �-��:�� ���
�� �� �� 5���� H�E� �� ������ �� �����5
����� �� ���7�
�����

���� ����� ��� �� 
������� ��� �7���� ���� �� ��� �� ���	�� ��� ���7�
����� �� �� ����
� / ���

	������ ������� �� �-��:�� ������ ��� �

������� ��� �� 5���� H�'�

"�� �� 5���� H�'� ���� ������� ��� ��� ��
��� ��� ��������� 9 ������������ �� �� �������� ��

	�
�
��� �� �� ������ �� .����5
����� �� ���7�
����� ���� ���� 
����C����� 2� 	��
� ���
 ���

���
������� 9

GE
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%��

Planification de 
trajectoire muni 
d’un contrôleur

Système linéarisé par 
bouclage linéarisant 

et commandé par 
retour d’état

Estimateur de la 
position de RobuCar

u
yestx

esty

trajdes

desv
réf

���� H�' O "

��� ������ �� �� 
������� �������� �� %������

O ������������ �� �� �������� �� 	�
�
��� ��� �������� ��� �� 5���� H�G� �� ����� �� ������ ���

������� ����	���� ��� ��� 
������� �� %������ ��  ������ �� ������� ��� 
���������� ���� ��

���:�� 5�� #��� / <����+ �� �� �������� �� 	�
�
��� 9 (xest; yest)�

;��� 
���� ����������� �� 	�
���� ��  ��
���� m(vx, vy, γ) ��� ��5�� ��� 9

m(vx, vy, γ) =

(
vxcos(γ) − vysin(γ)

vxsin(γ) + vycos(γ)

)
�� 	�
���� ��  ��
����� ��� ����� �� ������ ��� 	������� ������������� �� �����	������ ���� ��

���:�� ��� �� 	�
�
��� ����� ��� ������� �� ��
��� ����� �� �������� �� � �� �� - ���� �� ���:��

5�� #��� / �� <����+�

O �� ������ �� �����5
����� �� ���7�
����� ���� ���� 
����C���� ��� �

������� ��� �� 5���� H�(I�

�� ��	��� �� �� 
������� �� 	������� �� ����� �������� ��� ������� ��������� ��6� �� 
��	����� ��


������� �� 	������ �������� �� 
������� �� 	������ �� �������� ��� ������ .�� 
������ �� ��	���

�� ���	� �� ���7�
������ �� ����
��� ��� ���� 
�������� 2�  ��
���� �� �� 	������ ������� �� x ��

�� �� ���7�
����� �������� �� �������� ������� �� y ��� ����������� ����� �����:�� ��� 
�������

/ �� �������� ������� �� y� �� �������
� ������ ����� �� ��	��� ���� ���� ���� �� 	�
�
��� ����

�������� "� �������� ��� ������	� #������	�+� �� 	�
�
��� ���� ������� / ������ #���

�+ �� ��


��������
� ������� �� �������� �	��� ���� ��������� #��������+�

�� 
����C�� ��� ������� ������� / ������ ���� 
����C���� .�; ����� ��� ���������� �� ����:�� /

�	��� �� �������� 
����������� �� �-��:�� �� ���
��  ������ ��� ������������ ��� ��� ���������

�	�
 
� ������� ���� �� .�; 9 K(s) = 0.2 + 1.2
s

Estimateur 
d’étatu

y
K

),,(
estest yx vvm fixexv _

fixeyv _

xv
yv

estx

esty

���� H�G O 2��������� �� �� �������� �� 	�
�
���

�	�
 
���� 
������� �� ���� �� �-��:��  ��
�������� ������������ �� ���7�
����� ������� ���

���

� �� �� ���7�
����� ������� #
 5���� H�((+�

G'
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desv 1/R

des1

des2

des3

des4

estx

estx

desy
desy

-
+

esty

y PID
desf

trajdes

���� H�(I O ������ �� �����5
����� �� ���7�
�����

���� H�(( O <��7�
����� ���� �� �-��:�� ���� �� ���

�� �� ��� �� �B�� ���� �� ���	� �� �� 
������� �� 	������ #5���� H�(F+�

��+�� #����
���� �
� �� �������
 �
 �!��"�
 
� %��������
�
�� ������

� ������ �� ���:�� �� %������� 
� ��������
� ��
������ �� 
������� ��� ��������� �� 	�
�8


��� �� ���	�� ��� ���7�
����� / ��� 	������ �� �� ����
�� �� ���:�� ��� ���� ������� ��������� ���

���
���� ����������� �� ��� 
������� ��� ������ ������ ��� ��������� �� �-��:�� ���������� ������

�� �-��:�� ���� ���	�� ��� 	������� �� �������� ��� ����� �� ��� ����	�� �������� �� �������� ��

GG
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���� ����	�
%��

���� H�(F O X������ ������������� ���� �� �-��:�� ���� �� ���

�� ����
�� 2� ����� �� 
� �-��:�� 
�������� �� ������ �� �����5
����� �� ���7�
����� ������

�� ���	�� �� ���7�
����� / �� 	������ �������� �� ���� 
� 
���� 
������� ���� ��	������ ��������

���� �� 

������ )�

�� �����:�� ����� ���� �� ���� �� ���
� �� �-��:�� �� 
������� ��������� �
��	� ���  ����� ���

�� 
��
������ �� ������ �� ���	������
� �� �� ������ �� ��
��5���������

��) *�	� �� ����� ����� �
������ �
������� ������ ��� �����	

������
�����	

"���� �� 
��
�� ����� 
������� ���� ��  ��
���������� ������ �� ��

��� ��� %������ ���


������ �� ������� ���  ����� ������������������ ���� ���	��� ���������� ������ �� ���
� ���

%������ ��� 
������� ��������� �
��	� ���  ����� ���
��������� #���� ����������� ��� �����

��� �� ������
�� ���
��������� ���	��� �� ��������+�

&��� 
�����
����� ��� �� 
��
�� ��� ������� ���� �� ����
���� ��� �� ������
��� �� �� ��� �����

����
��� �� ������ �� ��
��5�������� ��� 

���� ��  ���� ���
���� �� ��� �� 
������� �� ����

������� �� ���� 
������������ �� �� ��� 9 �� ��� ���
 ��
������� �� ���	���� 
��� ������ ���������


����C����� ���� 
�� ��������� 
�� �� �� ������
���

����� ���� 
���������� ��� �� ���� ��7���� ���
���������� �� ��� ������� �� 
�������� / ��������


� �������� ����� �� ��� �� 
������� �� �-��:�� �� �� ��� ����������� ��� ��� �
��������� �����

���������

�� ��������� �� ��
��5�������� 
������� ���
� ���  ��� ��#�+ �� ���#�+ ����
��#�+ �� ��
�����#�+� /
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���
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.�� �� �
����� �� ������������� ��������� / ����� ���:��� ��� ������� ���������� �� ����
��� ��

�� ��
������ ��� �� ���� ��� 

�
�� ��� ��� �
���������� ���	��� B��� 
��
�����

X��
� 
������ �� ������� ������ ����8B��� 
��
���� &��� �	��� 9

J1θ̈1 + f1θ̇1 − RFx1 − RFy1αf − u1 = 0 #H�*H+

�� Fx1 = α0sign(G1) − α1e
−β(|Gi|)sign(Gi) − α2(Gi)

�	�
 G1 = Rθ̇1−vx
vx

�� y =
(

θ̇1 θ̇2 θ̇3 θ̇4 dx dy αf αr Γ
)T

���
 Fx1 = α0sign(Rẏ1−ẏ5

ẏ1
) − α1e

−β(|Rẏ1−ẏ5
ẏ1

|)
sign(Rẏ1−ẏ5

ẏ1
) − α2(Rẏ1−ẏ5

ẏ1
)

;� �B�� Fy1 = α
′
0sign(α

′
f ) − α

′
1e

−β
′
(|α′

f |)sign(α
′
f ) − α

′
2(α

′
f ) �	�
 α

′
f = y7 − ẏ6+y9a

ẏ5
�

���
 Fy1 = α
′
0sign(y7 − ẏ6+y9a

ẏ5
) − α

′
1e

−β
′
(|y7− ẏ6+y9a

ẏ5
|)
sign(y7 − ẏ6+y9a

ẏ5
) − α

′
2(y7 − ẏ6+y9a

ẏ5
)

������ ���������� H�*H ���� ���
���� �� �� ����:�� ���	���� 9

J1ẏ1 + f1y1 − R(α0sign(Rẏ1−ẏ5

ẏ1
) − α1e

−β(|Rẏ1−ẏ5
ẏ1

|)
sign(Rẏ1−ẏ5

ẏ1
) − α2(Rẏ1−ẏ5

ẏ1
))

−R(α
′
0sign(y7 − ẏ6+y9a

ẏ5
) − α

′
1e

−β
′
(|y7− ẏ6+y9a

ẏ5
|)
sign(y7 − ẏ6+y9a

ẏ5
) − α

′
2(y7 − ẏ6+y9a

ẏ5
))y7 − u1 = 0

#H�*)+

>���������� �� ������� ������ ���
��� 9

r1 = J1ẏ1 + f1y1 − R(α0sign(Rẏ1−ẏ5

ẏ1
) − α1e

−β(|Rẏ1−ẏ5
ẏ1

|)
sign(Rẏ1−ẏ5

ẏ1
) − α2(Rẏ1−ẏ5

ẏ1
))

−R(α
′
0sign(y7 − ẏ6+y9a

ẏ5
) − α

′
1e

−β
′
(|y7− ẏ6+y9a

ẏ5
|)
sign(y7 − ẏ6+y9a

ẏ5
) − α

′
2(y7 − ẏ6+y9a

ẏ5
))y7 − u1

#H�*K+

;� �� �B�� ����:��� ���� ����	��� K ������ ��������

X��
� ���
 ��� ��� ������� 9

r1 = J1ẏ1 + f1y1 − R(α0sign(Rẏ1−ẏ5

ẏ1
) − α1e

−β(|Rẏ1−ẏ5
ẏ1

|)
sign(Rẏ1−ẏ5

ẏ1
) − α2(Rẏ1−ẏ5

ẏ1
))

−R(α
′
0sign(y7 − ẏ6+y9a

ẏ5
) − α

′
1e

−β
′
(|y7− ẏ6+y9a

ẏ5
|)
sign(y7 − ẏ6+y9a

ẏ5
) − α

′
2(y7 − ẏ6+y9a

ẏ5
))y7 − u1

r2 = J2ẏ2 + f2y2 − R(α0sign(Rẏ2−ẏ5

ẏ2
) − α1e

−β(|Rẏ2−ẏ5
ẏ2

|)
sign(Rẏ2−ẏ5

ẏ2
) − α2(Rẏ2−ẏ5

ẏ2
))

−R(α
′
0sign(y7 − ẏ6+y9a

ẏ5
) − α

′
1e

−β
′
(|y7− ẏ6+y9a

ẏ5
|)
sign(y7 − ẏ6+y9a

ẏ5
) − α

′
2(y7 − ẏ6+y9a

ẏ5
))y7 − u2

r3 = J3ẏ3 + f3y3 − R(α0sign(Rẏ3−ẏ5

ẏ3
) − α1e

−β(|Rẏ3−ẏ5
ẏ3

|)
sign(Rẏ3−ẏ5

ẏ3
) − α2(Rẏ3−ẏ5

ẏ3
))

−R(α
′
0sign(y8 − ẏ6−y9b

ẏ5
) − α

′
1e

−β
′
(|y8− ẏ6−y9b

ẏ5
|)
sign(y8 − ẏ6−y9b

ẏ5
) − α

′
2(y8 − ẏ6−y9b

ẏ5
))y8 − u3

r4 = J4ẏ4 + f4y4 − R(α0sign(Rẏ4−ẏ5

ẏ4
) − α1e

−β(|Rẏ4−ẏ5
ẏ4

|)
sign(Rẏ4−ẏ5

ẏ4
) − α2(Rẏ4−ẏ5

ẏ4
))

−R(α
′
0sign(y8 − ẏ6−y9b

ẏ5
) − α

′
1e

−β
′
(|y8− ẏ6−y9b

ẏ5
|)
sign(y8 − ẏ6−y9b

ẏ5
) − α

′
2(y8 − ẏ6−y9b

ẏ5
))y8 − u4

(I(
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u1 u2 u3 u4 u5 u6

0 0

0

0

r4 0 0 0 1 0 0

r5 0 0 0 0 1 0

r6 0 0 0 0 0 1

0

0

0

0

0

r1 1 0 0

r2 0 1 0

r3 0 0 1

���� H�(H O �����
� ����
����
�

r5 = Jf ÿ7 + ff ẏ7 + kfy7 − D(α0sign(Rẏ1−ẏ5

ẏ1
) − α1e

−β(|Rẏ1−ẏ5
ẏ1

|)
sign(Rẏ1−ẏ5

ẏ1
) − α2(Rẏ1−ẏ5

ẏ1
)

+α0sign(Rẏ2−ẏ5

ẏ2
) − α1e

−β(|Rẏ2−ẏ5
ẏ2

|)
sign(Rẏ2−ẏ5

ẏ2
) − α2(

Rẏ2−ẏ5

ẏ2
))

−Dy7(α
′
0sign(y7 − ẏ6+y9a

ẏ5
) − α

′
1e

−β
′
(|y7− ẏ6+y9a

ẏ5
|)
sign(y7 − ẏ6+y9a

ẏ5
) − α

′
2(y7 − ẏ6+y9a

ẏ5
)

+α
′
0sign(y7 − ẏ6+y9a

ẏ5
) − α

′
1e

−β
′
(|y7− ẏ6+y9a

ẏ5
|)
sign(y7 − ẏ6+y9a

ẏ5
) − α

′
2(y7 − ẏ6+y9a

ẏ5
)) − u5

r6 = Jrÿ8 + frẏ8 + kry8 − D(α0sign(Rẏ3−ẏ5

ẏ3
) − α1e

−β(|Rẏ3−ẏ5
ẏ3

|)
sign(Rẏ3−ẏ5

ẏ3
) − α2(Rẏ3−ẏ5

ẏ3
)

+α0sign(Rẏ4−ẏ5

ẏ4
) − α1e

−β(|Rẏ4−ẏ5
ẏ4

|)
sign(Rẏ4−ẏ5

ẏ4
) − α2(Rẏ4−ẏ5

ẏ4
))

−Dy8(α
′
0sign(y8 − ẏ6−y9b

ẏ5
) − α

′
1e

−β
′
(|y8− ẏ6−y9b

ẏ5
|)
sign(y8 − ẏ6−y9b

ẏ5
) − α

′
2(y8 − ẏ6−y9b

ẏ5
)

+α
′
0sign(y8 − ẏ6−y9b

ẏ5
) − α

′
1e

−β
′
(|y8− ẏ6−y9b

ẏ5
|)
sign(y8 − ẏ6−y9b

ẏ5
) − α

′
2(y8 − ẏ6−y9b

ẏ5
)) − u5

������� �� �-��:�� ��� ��  ��
���������� ������� ��� ������� ���� ���

�� �� @��� #
 5���� )�K+�

�� 5���� H�(H ���������� �� �����
� ����
����
� ���� 
�� �������� &��� 	�-��� ���
 ��� ��� �����8

����� ���� 

�
��� ��� �� ������
�� ���� ���� ����������� ��� �� ���� ��� 

�
�� ��� �
���������

���� ���
 ����
������ �� ��
���������� ;� ����� 
���� �� 	����� �� 

�
�� ��� ������� ����� ��8

Z���
�� ��� ��� �� �
��������� ��� ������ ����������� ���
��������� ���	��� ��������� B���

����
���� �� ��
��������

3������ *

O "� �� ��������� �� �� �� ������
� ��� ( 0 1 0 0 0 0 )T � �� ��- � ��� ���
�������� 2 ��� ���

�� �� ����

O "� �� ��������� �� �� �� ������
� ��� ( 1 0 0 1 1 0 )T � ���� �	��� ���
 ��� ����� �
����8

����� 1 Q 4 �� 5 ��� ���� �� �� ����

�� ������ �� ���	������
� ��� �� ���� ����� ��� �� ���
�� ���� ���	��� ��������� ���� ����������

��� 
����C����� ���� ��� ����� �� �������� �� / �� ��������� �� ��
��5���������

(IF
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��-�� #���
� � 
�
 ���'

 �
 �������

�� ��
� ��5��
��� ��� �
 ��%�������
�


� ��������
 �
 �
�����
������

;��� �� ��������
� H�)� ��� 
������� � ��� �������� ���� �� 
�� ������� ���
 ���� B �� ��

 ���� 9

B =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1/J1 0 0 0 0 0

0 1/J2 0 0 0 0

0 0 1/J3 0 0 0

0 0 0 1/J4 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 1/Jf 0

0 0 0 0 0 0

0 0 0 0 0 1/Jr

0 0 0 0 0 0

0 0 0 0 0 0

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
&��� ������ ��������� 
��������� �� 
������ ������� �� �� ���� ��������� ���
����������

(� "� �� ������ �� ����
���� �	��� #�
�������� 5+ ����� �� ������ �� �����
� B ���� � 8

 �
��� ��� �� 
�����:�� 
������ ��� �������� �������� ��� �������� �� 	����� ���	���� 9

( 0 0 0 0 0 0 0 0 1/(4.Jf ) 0 0 0 0 )T �

.������ ���� ����������� ���� ���
�������� �� ������� ���� �� ��
��5��������� ��� ���	����

��� �� 
������� ���� B��� 
��
���� ���� �� �-��:��{
ẋ = f(x) + Bfu

y = Cx
#H�**+

�R Bf =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1/J2 0 0 0 0 0

0 1/J2 0 0 0 0

0 0 1/J3 0 0 0

0 0 0 1/J4 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 1/Jr

0 0 0 0 0 0

0 0 0 0 0 0

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
����� �� ������ �� ����
���� ����:�� ����� ��� 
�������� #�� ��- � ���
 ���� �� ��������

(IH
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desv 1/R

des1

des2

des3

des4

estx

estx

desy
desy

-
+

esty

y
0 desf

trajdes

Contrôleur

+

+

+

-

k1

k2

���� H�() O ������ �� �����5
����� �� ���7�
����� ��
��5���� ����� / ��� �� ������
� ��� ���
����8

���� 5

�� ���� ��������+� �� ����� ����������� ���� ��� �� 	�
�
��� ������ ������� ��� ���������� ���

	������� �� �������� ��� ����� ���������� / ���

� �� / ������� .�� �������� �� �� 	�
�
���

��� ���� / ������ ��� ������� / �� �� ����
�� ��  ��� ������� ��� ����� �� ������ ���� 	��� ���

��� ����� �� ���

� �5� �� ������� / ���

�� �� ������ �� �����5
����� �� ���7�
����� ���

����� ��
��5���� ���� ��	���� 
���� �������� ��� �� 5���� H�()�

�� 
����C���� ��� �� ����	� ��� �� 5���� H�() ����8B��� �� ���� �-��� 9

O ���� �� ���	��� .�; ������������ �� ��������� �� �-��:��� .��� ��� ������������ ����

�	��� 

���� 
� ������� �� .�; 9 K(s) = 4 + 20
s

O ���� ��� 
������� / ���� �������� �R �� ��� �
� �� ���������� ��� s = ε̇v − aεv #�	�


���� ��� ����������� a = 3+

��� ���� �-��� �� 
����C����� ������ 
������� ���� ��� ����������� ���� �� 

������ )�

�� ��	��� �� �� ������������� �� �-��:�� ��� ���
���� ������������ 
���� �� - � �� �
����8

���� ���������� �� ������ ���� ��	��� �� �B�� �������� �� 
������ �� ������ ��
� ��  ���

���������� �� ������?��� �� 
�����:�� 
������ �� �� �����
� β �� �� 5���� H�E ��� ���


������ �� @�����

;��� 
���� ��
��5��������� �� 
������ �� ������� �� �������� �	��� �� 	�
�
��� ����� ���


���� ���������

F� �� 
�� �� ������ �� ����
���� ��� ����� ����:��� #�
�������� 6+ �� �� ��� �� ���� ��� ������

������� ���� �	��� ���
��� ����� ������� ��� ������� �� ��� �� �������� ��� ����� ����:���

������� ����

H� "� �� ��� ������� �� ���
���� ��� ����� ����� �� ������ �� � ��� 
������� ��� ��� �����������

#

������ )+ ��� �� �-��:�� 
������� 
��������� �� ���8�B�� �� �� ��� �� ����� ����� ���


(I)



��?� �������
��

Planification de 
trajectoire muni de 
différents modes de 

commande

Système linéarisé par 
bouclage linéarisant 

et commandé par 
retour d’état

Estimateur de la 
position de RobuCar

u
yestx

esty

trajdes

desv

Commutation entre les 
modes de commande 

contrôlée par le module 
de reconfiguration

reconfiguration

surveillance

Consignes en vitesses de 
rotation des roues et dérivés 

d’ angle de braquage:

*

*

*

*

*

*

4

3

2

1

r

f

s

s

s

s

���� H�(K O "-��:�� �� 
������� ��������� �
��	� ��� �� ���� ���
��������� ��� %������

������� �� ��
��5����� �� �-��:�� ���� 
� 
��� ��
��� ��
��5�������� ����� ���
 ���	��

���� 
� �-�� �� �� ������
��

;��� �� 
�� �������� ��� ��� �� 
������� ��� ���
 
��
���� ���� 

���� 
�� �� �� ������
�

����
����� �� ��
�������� ���� �� �� ��������� �
����������

�-��� ������� / ����������� ��� ��� �� 
������� ���� ��������� �-��� �� ������ ���
����������

�� ��
������ �� ��
��5�������� 
������� ����������� ����� / �� ����
���� �� / �� ��
��������� ��

�� ����� /  ���� ���
���� �� ��� �� 
������� �� ���� ������� �� ���� 
������������ �� �� ����

�
�� �� ������ �� �����5
����� �� ���7�
����� ������� ��� ��
��5���� ����� / �� �� ��� �� ������

�� ���
����� 
� ������ ���� ���������� ���� 
��5��������� ��������� 9

O �� 
��5�������� ���� �� �-��:�� ���� �� ��� #5���� H�(I+

O �� 
��5�������� ����� / �� �� ��� ��� �� ������ �� ����
���� �	��� #5���� H�()+

�� ������ ���� ����� ������ `.����5
����� �� ���7�
����� ��������� ���  �����` �� 5���� H�(K

�������� 
� ��
������ �� ��
��5�������� ����� ��� ���� �� �-��:�� �� 
������� ��������� �
��	�

���  ����� ���
����������

��- �
����	�
�

�� ��
���������� �� 
� 

������ ��Z:�� �� ����:�� ���� ���� �-��:�� ���� B��� ������ ���� ��

������ �������� �
�� ���  ����� #�
� ���  ����� ���
��������#�++�

(IK
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2� ����� �� �����:�� �
��� 
������� ���7���� / ��������� �� �-��:��� �
�� �� �-������� �� %�8

����� � ��� �������� ��� �� �-��:�� ��� �������� �6�� �� �� 
������� �� * �������� G �������

�� (H ������ "�� �� �-��:�� ��������� �� ��
���� �
��� 
������� / 
��
�	��� ��� 
������� �5�

����������� ��� ��7�
�� � 5���� ����7�
�� � ��� %���
��� ����� �� ���	�� ��� 
������� �� ���7�
�����

/ ��� 	������ �� �� ����
�� �����8
� � ��� ������� ��� �� ���� �� 
��
��� ���� ������ �� �����8

5
����� �� ���7�
����� ��������� �� �������� ������� �� 	�
�
��� �� ��� 
�������� �� ���7�
����� ��

�� 	������ �� �� ���:�� �� %������ ��������� ��� ���
���� ����������� �� 
������� ��� ������

������� �� ���������� �� �-��:�� 
������� ���� ������ ���� �� 

������ )�

;��� �� ��� �� ������ �� �-��:�� �������� ���  ����� ����	� ����� �� ������:�� �
��� 9 ������-���

$�� ����-�� ��� ��������
�� ���� �������� ��� �� �-��:�� ������ �� 
����D��� �� 
���
��� / ����8

��� ��� �� ����� �/ ��
���� ������-�� ��� %������ � ������ �� 
��5���� �� 
���
��� / B��� ��������

���  ������ ��
� ����� ���	������ 	� �� ������ �� 
������� �� ���
��������� �������� ��� �� 	�
�
����

2�5�� �� �����:�� ����� ��� �� ���� �� ���
� ����� 
������� ��������� �
��	� ���  ����� ���

�� �-��:��� �����8
� ������ ��� �� 
��
������ ���� ������ �� ���	������
� ���� ��� �� 
��
�� ��

���������� ���� �� 
������� ���� 

���� 
�� �� �� ������
�#�+ ����
�����#�+ �� ��
��������#�+�

;��� ����� ������ ���� ���� ������ ������� ��� �� ���� ���
���������� 2� ��������� ��� ����

��� �� ���� ���
��������� ���	��� ���	���� ��� %������� �� ������ �� ���	������
� � ��� 
��?�

�� ��������� �� �
����� �� ����������� ��� ��� ��������� �� ��������
� ����-����� �� �-��:��� ��

������ �� ���	������
� 
������� ��� ������� ���������� �� ����
��� �� ��
������ �� �� ���������

�� ���� ���
��������� �� 
��
�� ��� ���� �� 
�������� ���� 

���� 
�� �� �� ������
� � 
������

/ ���� ����� �� ������ �� �����5
����� �� ���7�
����� �� �� ������ �������� ���  ����� �� ���


��
��5������� �� 
�� �� �� ������
�#�+ ���
���������

;��� �� ���

��� 

������� ��  ��
���������� �� �-��:�� ���� ������ ���� �� 
�� ������� ����

����� �� 
�� ���

�����
� �� �� ������
�#�+ ��� �� �-��:���

(I*
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������ ��� 
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�� �� ���� �� �� 
������� ��������� �
��	� ���  ����� ���
��������� ����

�� ���
�� �� 

������ ���
������ ��� �� 	�
�
��� %�������

��� ����� ����  ���� / ������ �� ����������� ���� �� ������ �R ������������ �� �� ��� ��� �� �-��:��

���� ��� ��6
��� / ���	����� �� 
�N������

����7�
�� ��� �� ���	�� ��� ���7�
����� �� �� ����
� / ��� 	������ ��������� �� �� ����
� �����8

������ ��� ��� 5����� )�( �� )�F�

��
� ���� ��  ���� ���� ��� 
��������� ��  ��
���������� ��������� ������ ������� �� ��
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������ �� ���������:��� �������� �� (IAJ
� 5�� ��� �� 	����� �� ������ �� �� ������� ��� ������

�� ���������:��� 	���� ��� ��� ����� �� ( / F�' 	���� ���� �� ����� 	������ ����	���� −20o / +20o�
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���� ������ ����������� / ��� �B�� 
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����C�� �� �� 	������ ��  ��� / ������ ���� ��
����� ��
�������� ��� �������� �� ������ �� ��8

���� �� 
��
��� �� ������ ��� �������� ��� ��� ������� 
������� �� )'X  ������ ��� ��� ����������

.��� ������ 	������� 
���� ������� 
�������� ��  ��� ����� / �� 
����C���� .0� #.���� 0���


����������+ �� / ��� ������ <P% #������� ;�%+� �� ������ .0�  ��� 
������� �������������� ��

������ �	�
 ��� ����� ������������ /  ������
� 5�� ���� ��  ��� 	����� �� �������� .��� 
����C���
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�
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-
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����� ����� ��������� ��� �� 5���� ��G 9

O �� ���� ������ 9 �� 
��������� ��  ��
���������� ����� 	������ ���������� �� �������� ���

����� ��  ��� ���������� ��� �������� �	��� �� ��� ����� �������� ������ ����� �� �B�� ���� ��
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O �� ���� ���� 9 ����� �� ���� ������ �	�
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������� �� �� ���7�
����� �� 	�
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$
����
��	
�� �� ������ �� #������

��	��� ���� ��
�	 �� ����	
�������	

.������ �� ���:�� ��� �������� �6�� �� �� 
������� ����	� / �� ���� 'H �� ������� 
�8������� 9

{
ẋ = f(x) + B.u

y = C.x
#,�(+

�R

f(x) =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

− f1

J1
x1 + RFx1

J1
+ RFy1x10

J1

− f2

J2
x2 + RFx2

J2
+ RFy2x10

J2

− f3

J3
x3 + RFx3

J3
+ RFy3x12

J3

− f4

J4
x4 + RFx4

J4
+ RFy4x12

J4

−Fx1+Fx2
M − Fx3+Fx4

M − Fy1+Fy2
M x10 − Fy3+Fy4

M x12

x5

−Fx1+Fx2
M x10 − Fx3+Fx4

M x12 + Fy1+Fy2
M + Fy3+Fy4

M

x7

− ff

Jf
x9 − kf

Jf
x10 − Fx1+Fx2

Jf
D − Fy1+Fy2

Jf
x10D

x9

− fr

Jr
x11 − kr

Jr
x12 − Fx3+Fx4

Jr
D − Fy3+Fy4

Jr
x12D

x11

a
Iz

(−Fx1 − Fx2 + Fy1 + Fy2)x10 + b
Iz

(Fx3 + Fx4 − Fy3 − Fy4)x12 + d
2Iz

(Fx1 − Fx2 + Fx3 − Fx4)

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
#,�F+

(KH
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C =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0 0 0 0 0 0 0 0 0 0

0 1 0 0 0 0 0 0 0 0 0 0 0

0 0 1 0 0 0 0 0 0 0 0 0 0

0 0 0 1 0 0 0 0 0 0 0 0 0

0 0 0 0 0 1 0 0 0 0 0 0 0

0 0 0 0 0 0 0 1 0 0 0 0 0

0 0 0 0 0 0 0 0 0 1 0 0 0

0 0 0 0 0 0 0 0 0 0 0 1 0

0 0 0 0 0 0 0 0 0 0 0 0 1

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

B =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1/J1 0 0 0 0 0

0 1/J2 0 0 0 0

0 0 1/J3 0 0 0

0 0 0 1/J4 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 1/Jf 0

0 0 0 0 0 0

0 0 0 0 0 1/Jr

0 0 0 0 0 0

0 0 0 0 0 0

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
����������� �� 	�
�
��� �� �
��� ���

��������� #��� ����������� Gi > 0+� ������� / ��� 	������

�� 16km/h �� ������������ �� 1km/h �� ����	������ �� ��� ����������� �� ����� �� 
���������

(x = 50m; y = 2m)� ������� �� �������� ��� ����� �	��� �� ����:�� ��� �����
��	����� ���� / 2.8o

�� 0.6o� ��5� ��� ������ �� ���������� ��� ����� �	��� �� ����:��� ���� ����
������ ������ ��

�� ����� ��  ��
���������� ���	���� �����
�� ��� ����
������ ���
������� 9[
4.51 4.505 4.515 4.512 4.44 50 0.42 2 0.01 0.05 0.015 0.01 0.001

]
&��� ���	��� ���
 ���������� �� �-��:�� ������ �� 
� ������ ;��� 
� 
��� �� �-��:�� ���
��� 9

{
ẋ = A.x + B.u

y = C.x
#,�H+

�R ��� �����
�� B �� C ����� ��� ��� ����5��� �� �R �� �����
� A 
������������ / �� �������������

(K)
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���� f ������ �� ����� ��  ��
���������� ���
�������� 
��� ��� ������ ��� 9
�
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3.84e6 0 0 0 −3.90e6 0 −121.18 0 0 182.88 0 0 −97.35

0 3.86e6 0 0 −3.92e6 0 −121.18 0 0 182.88 0 0 −97.35

0 0 3.82e6 0 −3.89e6 0 −42.68 0 0 0 0 −740.83 17.14

0 0 0 3.83e6 −3.90e6 0 −42.68 0 0 0 0 −740.83 17.14

−3.14e4 −3.15e4 −3.12e4 −3.13e4 1.27e5 0 2.67 0 0 −2.99 0 12.091.31

0 0 0 0 1 0 0 0 0 0 0 0 0

−1.57e3 −1.58e3 −311.93 −312.96 3.84e3 0 −109.25 0 0 5.72e4 0 5.69e4 −3.80

0 0 0 0 0 0 1 0 0 0 0 0 0

−1.10e4 −1.10e4 0 0 2.23e4 0 0.69 0 −0.00 −6.04 0 0 0.56

0 0 0 0 0 0 0 0 1 0 0 0 0

0 0 −1.09e4 −1.09e4 2.22e4 0 0.24 0 0 0 −0.00 −0.77 −0.10

0 0 0 0 0 0 0 0 0 0 1 0 0

6.16e4 −7.27e4 6.71e4 −6.63e4 1.03e4 0 −16.21 0 0 1.96e5 0 −9.76e4 −156.98

�
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